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Question Number : 1 Question Id : 7773933711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

LPDY, POGX, TNJW, XMMYV, ?
Options :

1. ¥ BLPU

2. % BMLW

3. % BPLU

4. % BLMW

Question Number : 1 Question Id : 7773933711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fu U fased 7 O VR 31eR TYg &1 994 &y, o Fuferiaa 9ot & usifg (2) & ®IM O 3@ 51 9 g

LPDY, POGX, TNJW, XMMYV, ?
Options :

1. ¥ BLPU

2. % BMLW

3. % BPLU

4, % BLMW

Question Number : 2 Question Id : 7773933712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

KRID, MPLH, ONOL, QLRO, SJUT, UHXX
Options :

1. % SJUT

2. ¥ QLRO

3. ¥ ONOL

4. % UHXX

Question Number : 2 Question Id : 7773933712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3R THE P UgaH & o fafafad Joft § Jeifta 78t 31

KRID, MPLH, ONOL, QLRO, SJUT,UHXX
Options :

1. % SJUT

2. % QLRO

3. ¥ ONOL




4, % UHXX

Question Number : 3 Question Id : 7773933713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Brutal

2. # Savage

3. ¥ Moderate

4. # Cruel

Question Number : 3 Question Id : 7773933713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Ysg feu U g, omd @ i fobeht 7 feft UopR @ Tur & 3R t R 21

39 T Xeg T IT B |
Options :

1. % W™

2. % 3Oy

3. % 3aR

4. % &

Question Number : 4 Question Id : 7773933714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

GLUE : JJXC :: LAPT : ?
Options :
1. # IDSR



2. *# ISDR
3. # OCSS
4. % OYSR

Question Number : 4 Question Id : 7773933714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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GLUE: JJXC :: LAPT : ?
Options :

1. # IDSR

2. % ISDR

3. # OCSS

4. ¥ OYSR

Question Number : 5 Question Id : 7773933715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Energy : Joule :: Angle : ?
Options :

1. * Roentgen

2. % Pound

3. ¥ Radian

4. * Candela

Question Number : 5 Question Id : 7773933715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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m:@::m:?
Options :

1. % AT

2. % BI3S

3. v A&

4. % Gl

Question Number : 6 Question Id : 7773933716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘TRAIN’ is written as ‘QOFNK’. How will ‘PAGES’ be written in that language?
Options :

1. % MXDCP

2. % MCDXP

3. ¥ MFDJP

4. % UFLJX

Question Number : 6 Question Id : 7773933716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (AfEd I U H, “TRAIN’ Bl ‘QOFNK’ & U H foRaT ST 81 I8 HIST H PAGES’ BT Y foRaT STaam?
Options :

1. ¥ MXDCP

2. % MCDXP

3. ¥ MFDIJP

4, % UFLJX

Question Number : 7 Question Id : 7773933717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘TRICK’ is coded as ‘58749’ and ‘PRINT” is coded as ‘38715°.How will ‘PINK’ be coded in that language?
Options :



1. % 3179
2. % 7391
3.9 3719
4. % 7319

Question Number : 7 Question Id : 7773933717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3179

2. % 7391

3.+ 3719

4. % 7319

Question Number : 8 Question Id : 7773933718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Druv is the brother of Roshan. Rupali is the sister of Arjun. Roshan is the son of Rupali. How is Druv related to Rupali?
Options :

1. ¥ Son

2. * Brother

3. % Nephew

4. * Father

Question Number : 8 Question Id : 7773933718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



.Y
2. % Yg
3. % ol
4. % fOar

Question Number : 9 Question Id : 7773933719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pramod, Dilip, Rohan, Sukumar, Tilak, Vishak, Wasim and Nilam are sitting around a circle facing the centre. Tilak is second to the right of
Rohan, who is third to the right of Pramod. Sukumar is second to the left of Pramod and fourth to the right of Dilip. Nilam is third to the right of
Vishak, who is not an immediate neighbour of Pramod.

In which of the following combinations is the first person sitting between the second and third persons?

Options :

1. #® Vishak, Tilak,Sukumar
2. % Tilak, Nilam, Sukumar
3. #* Dilip, Rohan,Vishak
4. ¥ Vishak, Rohan, Tilak

Question Number : 9 Question Id : 7773933719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % faemg, fadd®, YHaR
2. % fade, ™, YHaR
3. % faiy, e, fazvma
4. ¢ fa2mg, g, faas

Question Number : 10 Question Id : 7773933720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
All scales are magnets.
All trains are magnets.

Conclusions:
I. Some scales are trains.
II. Some trains are scales.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Neither conclusion I nor II follows

4. % Either conclusion I or II follows

Question Number : 10 Question Id : 7773933720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % g e 1 4 11 SFTERUT BT @

Question Number : 11 Question Id : 7773933721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some kickers are solvents.
Some solvents are stoves.
All stoves are posters.

Conclusions:

I. Some posters are solvents.
II. Some stoves are kickers.
III. No stove is a kicker.

IV. Some solvents are kickers.

Options :

1. # Only conclusions I and II follow
2. % Only conclusions II and IV follow
3. % Only conclusions II and III follow

4. ¥ Only conclusions I and IV and either conclusion II or III follow

Question Number : 11 Question Id : 7773933721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad FpY 1 3R 11 SR Hd &

2. % Had FHY 11 3R [V 38R0 Hd §

3. % had fpY 11 3R 111 3II¥R0 Hd &
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Question Number : 12 Question Id : 7773933722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged in the following equation to make it correct?

290— 156 x6+12+4+18=0
Options :

1. % +and +

2. % xand—

3.9 xand +

4. % +and -

Question Number : 12 Question Id : 7773933722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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290- 156 x6+12+4+18=0
Options :

1. % + 3R+

2. % x 3R -




3.¢ x 3R =
4. % + 3R -

Question Number : 13 Question Id : 7773933723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

7,15, 30, 62, 125, 253, ?
Options :
1. % 480
2.9 508
3. % 408
4. % 580

Question Number : 13 Question Id : 7773933723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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7,15, 30, 62, 125, 253, ?
Options :
1. % 480
2. ¥ 508
3. % 408
4. % 580

Question Number : 14 Question Id : 7773933724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best illustrates the relationship between the following classes.

Indians, Scientists, Musicians



Options :

QD
&
©9
Q00

Question Number : 14 Question Id : 7773933724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

QD
&
©9
Q00

Question Number : 15 Question Id : 7773933725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ronald walks 10 km towards the north to reach a stadium.Then, he turns to his right and walks 9 km. After this he turns to his left and walks 8km
to reach a fitness centre. Again, he turns towards his right and startswalking straight to reach a cafe. In which direction is he walking now?

Options :



1. * North
2. * South
3. ¥ East

4. % West

Question Number : 15 Question Id : 7773933725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 30X

2. % e

3./ 7d

4. % Uiy

Question Number : 16 Question Id : 7773933726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anirudh started from his house and travelled 1 km towards the west to reach a public park.Then he turned 270 degrees anti-clockwise and
travelled 1 km to reach a general store, and then turned left and travelled 2 km. From there he further travelled 5 km straight towards the south
and reached his office. What is the shortest distance between the office and his house?

Options :
1. ®* 4km
2. % 5km
3. % 6km
4. % 7 km

Question Number : 16 Question Id : 7773933726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 4km
2. % 5km
3. % 6km
4. % 7km

Question Number : 17 Question Id : 7773933727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

o i 0000 - o
-

A B C D
Options :

2.¢




4. %

Question Number : 17 Question Id : 7773933727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A B C D
Options :




2. ¢

3. %

Question Number : 18 Question Id : 7773933728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.

1R IVALSE

Options :

N




2. %
3. % :
4. :

Question Number : 18 Question Id : 7773933728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

3




2. %
3. % :
4. :

Question Number : 19 Question Id : 7773933729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P
MICROSOFT
Q

Options :
WICEOZ2OEL

1. #®



,« T1020RIIM

;v 11020401IM

. WICYO020ELL
4, %

Question Number : 19 Question Id : 7773933729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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P

MICROSOFT
Q

Options :
WICKEOZOEL

1. %

- TI0Z20RIJIM

s v 1102030 IM



., WICYO0O20ELL
4, %

Question Number : 20 Question Id : 7773933730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures. How would
this paper look when unfolded?

......... 4 . sunmed
& 0o '
- | ot
Options :
L ¢4
<
L o4
1. %




o O
3. ¢
¢ C
O 090
O L
4, %

Question Number : 20 Question Id : 7773933730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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<
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<
¢ <0
3. ¢
¢ C
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Question Number : 21 Question Id : 7773933731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Leafy vegetables are green in colour because of:
Options :

1. * carotenoid

2. % collagen

3. * carotene

4. ¥ chlorophyll

Question Number : 21 Question Id : 7773933731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fope! SUTRUTT & HRUT TxiaR Wiowrd! 1 71 81 BIel 82
Options :

1. % HATATS



2. % PHIcioM
3. % IACH
4. ¥ FARIbA

Question Number : 22 Question Id : 7773933732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organs is affected mainly during jaundice?
Options :

1. # Heart

2. ¥ Liver

3. * Lungs

4. # Brain

Question Number : 22 Question Id : 7773933732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tiferan X1 & fAafaRad o 9 &1F 91 o &7 U ¥ quIfad gidT 62
Options :

1. % gad

2. ¥ Yod

3. % by

4. % ARKTSH

Question Number : 23 Question Id : 7773933733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Albert Einstein got the Nobel Prize in 1921 for:
Options :

1. ¥ the Law of the Photoelectric Effect

2. % theory of relativity



3. % Wave-Particle Duality
4. # the Quantum Theory of Light

Question Number : 23 Question Id : 7773933733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreen! WISl o foTE Sreac M &I 1921 H Hl9d QRIGR e T:
Options :

1. ¥ UPHRIAGTd (Pleigaiaed) UHId &1 Ay

2. % HIU&dl &1 Rigid

3. % QB gd (A9-UIfehd gufereh)

4. % YepTR] &1 SicH Rigid

Question Number : 24 Question Id : 7773933734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mozambique Channel is an arm of the Indian Ocean located between the Southeast African countries of Mozambique and:
Options :

1. ¥ Madagascar

2. # Namibia

3. ® Zambia

4. % Botswana

Question Number : 24 Question Id : 7773933734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HENTRAR

2. % rHifean

3. % SR




4. ® Fgarn

Question Number : 25 Question Id : 7773933735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following States has the minimum percentage of Decadal Growth according to the Census 2011?
Options :

1. ¥ Kerala

2. % Manipur

3. % Rajasthan

4. # Punjab

Question Number : 25 Question Id : 7773933735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P SFIIUAT & AR Fafafad & 3 fy woa & ad <xe 1 gfe ufaw g2
Options :

1. ¥ R

2. % HOQR

3. % SR

4. % U99

Question Number : 26 Question Id : 7773933736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Gandhi—Irwin Pact was signed by Mahatma Gandhi and Lord Irvin on-
Options :

1. % 23 April 1930

2. % 5 March 1931

3. % 25 August 1930

4. % 8 November 1931



Question Number : 26 Question Id : 7773933736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foret Fif bt gt Tl SR T SRfa = Tiefl-3Rfa= I IR gwameR fog 2
Options :

1. % 23 3T 1930

2. 51E 1931

3. % 25 3R 1930

4. % g IdeR 1931

Question Number : 27 Question Id : 7773933737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following died on 4 May 1799 defending his capital Seringapatam?
Options :

1. ¥ Tipu Sultan

2. % Haidar Ali

3. ¥ Umdat ul-Umara

4. # Azim-ud-Daula

Question Number : 27 Question Id : 7773933737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ S g
2. % Ba 3t

3. % 3G IA-IW
4. % A3 qlal




Question Number : 28 Question Id : 7773933738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1722, Burhan-ul-Mulk Saadat Khan was appointed the subedar of:
Options :

1. # Malva

2. ¥ Awadh

3. # Bengal

4. % Mewar

Question Number : 28 Question Id : 7773933738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

REM-3A-Heb 3MGd WH DI 1722 H B8l 1 GaaR gad foar T o
Options :

1. % HIcldl

2.9 3{dY

3. % 9

4. % Hars

Question Number : 29 Question Id : 7773933739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Mughal emperor appoint the Company as the Diwan of the provinces of Bengal?
Options :

1. ® 1757

2. % 1762

3. % 1764

4. ¥ 1765

Question Number : 29 Question Id : 7773933739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T GHTe A T au § 601 &1 ST & Uid! &1 gla Hgad foar 4
Options :

1. % 1757

2. % 1762

3. % 1764

4. ¥ 1765

Question Number : 30 Question Id : 7773933740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following books is written by Indian jurist, economist, politician and social reformer, BR Ambedkar?
Options :

1. % All from Memory

2. # Courage and Conviction

3. ¥ Waiting for a Visa

4. % Ente Katha (My Story)

Question Number : 30 Question Id : 7773933740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & O e YR fafidw, Siifeme, IR 3R THS YRS &.30R. dSH gRI ford! 18 82
Options :

1. % 3Tc] Wh1g AR

2. % B TS H-ga=H

3. ¢ AT B o g

4. % TS HYT (AT TR

Question Number : 31 Question Id : 7773933741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was awarded ‘Air Transport World’s (ATW) 2021 Airline of the Year’?



Options :

1. # Qatar Airways

2. % Singapore Airlines
3. ¥ Korean Air

4. % Japan Airlines

Question Number : 31 Question Id : 7773933741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad 7 9 {5 TR Tiuid 98 (ATW) 2021 TORATRH 3 ¢ $3% ¥ GHATHd fahar
Options :

1. % HR TRA

2. % RYMR TRAsy

3. ¢ BINGT TR

4. % SUM TS

Question Number : 32 Question Id : 7773933742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first prime minister of India who resigned from office?
Options :

1. # Indira Gandhi

2. % Gulzarilal Nanda

3. ¥ Morarji Desai

4. % Lal Bahadur Shastri

Question Number : 32 Question Id : 7773933742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o 4R & Ugd Uy w3t A fSei7 ue § 3o fear ur

Options :




1. % SfaRr e

2. % TISIRIee -igl
3. ¢ ARRGI <418

4. % e §gTgR el

Question Number : 33 Question Id : 7773933743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which Constitutional Amendment Act was the 10" Schedule added to the Constitution of India?
Options :

1. # 61 Constitutional Amendment Act

2. ¢ 52 Constitutional Amendment Act

3. % g5t Constitutional Amendment Act

4. % 24 Congtitutional Amendment Act

Question Number : 33 Question Id : 7773933743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & QT 10d] g o by wiaem Sxiem sifafam grR1 =mfiye fovar mam ur
Options :

1. % 619 Aoy =M sifefam

2. ¢ 5241 SfaYT =M sffefam

3. % 8591 Hidyr TNy ifafgH

4. % 2491 "fqer =M srfafAgw

Question Number : 34 Question Id : 7773933744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Rock Shelters of Bhimbetka situated?
Options :

1. # Rajasthan



2. ¥ Madhya Pradesh
3. % Bihar
4. # Chhattisgarh

Question Number : 34 Question Id : 7773933744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafea & 3 forg o 3 fiddesT & ey Rud § 2
Options :

1. # SR

2. ¥ A IR

3. % fogR

4. % BTG

Question Number : 35 Question Id : 7773933745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following turned his palace into a centre of musical training and learning where exponents from different parts of India
assembled and found patronage?

Options :

1. # Radhakishore Manikya
2. % Bir Bikram Kishore

3. ¥ Birchandra Manikya
4. ® Ratna Manikya I

Question Number : 35 Question Id : 7773933745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ@%ﬁﬁ@%ﬂﬁﬁ%ﬁ@ﬂﬁﬁ&ﬂﬁ?ﬁf&ﬂ%%gﬁdm fear, S8t yRd & fafia fewl 9 ufdures T Hd gU gU 8ik S
Uy ?

Options :

1. % JefH=IR AT




2. % gR fopH fHaiR
3. ¥ g Aot
4. % I HIOTE gyyq

Question Number : 36 Question Id : 7773933746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the RBI is defined as the lender of last resort, this means:

Options :

1. # when retail consumers are not able to get loans anywhere, they can go to RBI
2. # when commercial firms are not able to get loans anywhere, they can go to RBI
3. ¥ when banks face solvency issues, they can go to the RBI

4. % when small scale industries are not able to get loans anywhere, they can go to RBI

Question Number : 36 Question Id : 7773933746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId RBI 1 3ifqH U & BUGId & T4 A RN fHar Sirdr 8, d ug Jefifd s g
Options :

1. % Oq U Gerl SUHIa el vt 5507 ured e § gaef e 811 8, ol 98 RBI H &1 Tobell &
2. % F HIS qOITD BH Bl 1 B0 U B § TerH el gl &, a1 d RBIH S Tobd ¢ |
3. ¢ O§ DIg Sb MY &FdT JHIT BT JIHT B 381 8, dl d RBI H & Gbd &

4. % S[9 AY I bal Ht B U B H Gar e 81 &, O d RBI H o Tobal ©

Question Number : 37 Question Id : 7773933747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was NOT one of the aims of Trade Policy Reform in India?
Options :

1. # Dismantling of quantitative restrictions

2. ® Reduction of tariff rates



3. ¥ Removal of small-scale industries

4. % Removal of licensing procedures for imports

Question Number : 37 Question Id : 7773933747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ®F 91 YR B R ifd QYR & 324l § 9 T 781 U1
Options :

1. % HETEHS Ufdel BT fdge B

2. % Waﬁ(tariffrates)a’ﬁm

3. ¢ Y SN b FHI BT

4, % 3{17d & forg SHJIAMUD (licensing) Ufharal &l THTE HAT

Question Number : 38 Question Id : 7773933748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following books is written by a famous former international cricket player, Kapil Dev?
Options :

1. ¥ Cricket My Style

2. # Playing It My Way

3. # The Test of My Life

4. ® Cutting Edge

Question Number : 38 Question Id : 7773933748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 3-8 gids uRig SiaRIsH fobdbe fRIars! »itd ¢ A fordl g2
Options :

1. ¢ fobde I T (Cricket My Style)

2. % WIS 3¢ A1S d (Playing It My Way)

3. % G T 3% HIT ASW (The Test of My Life)




4. % P TS (Cutting edge)

Question Number : 39 Question Id : 7773933749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won gold medals for India in the 100m and 200m sprints in the first Asian Games?
Options :

1. % Murali Kuttan

2. % PT Usha

3. ¢ Lavinho Pinto

4. # Milkha Singh

Question Number : 39 Question Id : 7773933749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRMATS Wl & GRM 100 m 3R 200 m f&ie & yRa & forg 9ol uee faram sftar am
Options :

I % IRl pe

2. % 4 QW

3. ¢ qrfawg! el

4. % foean g

Question Number : 40 Question Id : 7773933750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is correctly matched?
Options :

1. % Walker Cup - Tennis

2. % En Passant - Chess

3. % Term CUE - Baseball

4. % Bird's Nest stadium - Seoul



Question Number : 40 Question Id : 7773933750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 ¥ fege fram g8l g2
Options :

1. % GHI HY - g

2. ¢ T U¥C - Yo

3. % cH g - dudd

4. % 9EH A% WfeyH - R

Group Number :

Group Id :

Group Maximum Duration :
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Edit Attended Group? :
Break time :

Group Marks :
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Section type :
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7773933751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the sum of the largest and the smallest numbers from the numbers

11 7 TEigl 45
20’10’25 " 50" 100
Options :
12
1% 25

13
> ® 250

23

3 % 20

28

4.¢ 25

Question Number : 41 Question Id : 7773933751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jogreff 2 7 17 21 4 F3ygey 99 iR ged Sic Gl &1 g Jid S|

20’10’'25' 50" 100



Options :
13
1. % 25

I3
> % 250

23

3 % 20

28

4.¢ 25

Question Number : 42 Question Id : 7773933752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Numbers P and Q are divisible by 12, 15 and 24. If P is such smallest 5-digit number and Q is such greatest 3-digit
number, then find (P + 2Q).

Options :

1 ® 11200
> % 12420
3 #% 12600
4.« 12000

Question Number : 42 Question Id : 7773933752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
P 3R Q TE&ATY 12, 15 3R 24 ¥ AT €1 TfS p, 5-2fP 10 TaY BT WA § 3R Q, 3-2H 1 Uy g0 W& g,
(P + 2Q) I HM JTd S|

Options :
| % 11,200

5 % 12,420
3 % 12,600

4 v 12,000

Question Number : 43 Question Id : 7773933753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

2729 +.4256
A2
Options :
mi
1. ® -
4=
2.¢ 8
14l
3 ® 3



Question Number : 43 Question Id : 7773933753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad e &l Td Dol

2+/729 ++f236
3449425

Options :

1[?1E
1. ® 4

Question Number : 44 Question Id : 7773933754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of k such that the 8-digit number 528041Kk2 is divisible by 12.
Options :

. % 2



Question Number : 44 Question Id : 7773933754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 HTT 8 bl & YT 52804 1k2 & 7T k T A JTd D |
Options :

1% 2

Question Number : 45 Question Id : 7773933755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of (40% of 44 — 50% of 30.4).

Options :
1. % 16.08

) % —13.44



Question Number : 45 Question Id : 7773933755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(44 BT 40% - 30.4 BT 50%) DT T JId HIOU|
Options :
| % 16.08

, % —13.44

Question Number : 46 Question Id : 7773933756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 18 shirts is the same as the selling price of 15 shirts. Find the profit percentage.
Options :

| % 16.66%

) % 18%

3 & 20%

4 % 15%



Question Number : 46 Question Id : 7773933756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 HHISI BT AFTD Jed 15 B o [dshd Hedl & THH ¢ | A Wia=id J1d Hiforg|

Options :
1. % 16.66%

5 % 18%
3 & 20%

4 % 15%

Question Number : 47 Question Id : 7773933757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C start simultaneously from place X for place Y. A reaches place Y and then turns back and meets B at a
distance of 7 km from place Y. B reaches place Y and then turns back and meets C at a distance of 5 km from place Y. If
the distance between place X and place Y is 35 km, then what is the ratio of the speed of A to that of C?

Options :
1. % 3:

(]

I
—_

2. ¥

(]

3. % 5



Question Number : 47 Question Id : 7773933757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B IR Cc RM XY v M & Y T Y 901 = 3 81 A ™M Y RISl g 3R fhR A gear g @R
R Y Y 7 km B! g3 R B I AT 81 B RIM Y R Ygadl & HR [ a108 H3d1 § 3R ¢ ¥ R-IM Y ¥ skm B G2
TR fArerdr 81 afe ®IF X 2R M v & §1d &1 g1 35 km ©, A A $I 916 2R ¢ &1 916 BT 34T 41 82

Options :
1. %8 3:

(]

I
—

2. ¢

Question Number : 48 Question Id : 7773933758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells an article to A at I500. A sells it to B at a 20% loss, B sells it to C with a 10% profit and C sells it to D

with a 10% profit. If D had bought the article directly from the trader, then how much more or less would he have paid
for the article?

Options :
1. % 14 less
> % 12 more

3.« 16 more

4 ® %15 less



Question Number : 48 Question Id : 7773933758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh AR A DI 2500 H U 98] 99l ¢ | A TH 20% B G B &I SGd1 8, B TH 10% AH TR ¢ DI §9dl g AR €
S 10% WY TR D $I §9ad1 31 TG D 7 a%d B! Wil AR § |1 ielr, Gl 98 avq & ot e sifdis a1 |

YA Hal?

Options :
| % Il4hH

5 % 712 HEEH
3 v 716 HTH

4 % TISHH

Question Number : 49 Question Id : 7773933759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum becomes 216,960 in 1 year and 217,920 in 2 years on simple interest. Find the rate percentage of interest.
Options :

1. % 5%
) % 8%

3. % 7.5%



4.« 6%

Question Number : 49 Question Id : 7773933759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh AT MR AT 91T YR 1 98 H 216,960 2111 2 9N H 217,920 81 S| & | S4T91 &1 U= G JTd HIfg |

Options :

1. ® 5%
> # 8%
3. % 7.5%

4.« 6%

Question Number : 50 Question Id : 7773933760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amit took a loan from a bank that compounds the interest semi-annually. Vinod too took the same sum as loan and paid
the compound interest compounded annually. Both took the loan for 2 vears at 10% per annum. If Amit paid 2,643
more interest than Vinod, then find the loan money taken by each.

Options :
| ® 25.,40,000
R4 24.80,000

3 % 520,000



4 % 6.00.000

Question Number : 50 Question Id : 7773933760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S A U 5% U U1 for forg R = sl arfiies 0 I gaiford o11 fadig 2 o 59 01 &1 0 & 9 4RI
@l AR 3 R Gt FU Y GIfoTd Fehgfeg SATS] B YA | G A 2 T8 o o 109 dTfties &= F U7 feran
oT| g AT A 318 U 22,643 21l ST BT WA foban, df F1 7 T Ul & gRT e 18 501 &t Uiy 9rd
DI |

Options :
| % 25,40,000

5 & ¥4.80.000
3 % 520,000

4 % 6.00.000

Question Number : 51 Question Id : 7773933761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes, A and B, can fill a tank in 9 minutes and 15 minutes, respectively. When full, the tank can be emptied by
pipe C in 6 minutes. If all the pipes are turned on simultaneously, in how many minutes will the tank be full?

Options :
1 ® 12

> # 30



3.¢ 90

Question Number : 51 Question Id : 7773933761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl UISY A 3R B Uh ¢ Pl AR 9 AT 3R 15 e H W Thd g | 91d ¢! HR W1l 4 UISY C GRICHhl &l 6
forre o el fasan o gahd1 8 | afd 92l urgyl & U 91 e @R (g1 S, df St fda e o 1R oiwlo
Options :

1. # 12

Question Number : 52 Question Id : 7773933762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person moved from place A for place B at 10:30 am at the speed of 5.5 kim/h, stayed at place B for 2 hours and
returned to place A at the speed of 7 kimn'h. He reached back to place A at 3:00 pm. What is the distance between places
Aand B (in km)?

Options :
1. # 6.5

2.« 1.7



Question Number : 52 Question Id : 7773933762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh Hidd ®IM A Y Y[ B & (010 S8 10:30 W 5.5 knv'h D1 916 T AT, RIF B TR 2 °9¢ FHI 3R 7 kin/h 1 91
Y RIM A R a0y 7| §8 GIUeR 3:00 80 9199 RIF A R Ugal| RIF A HR RIF B & 8 &I &2 (km ) 182
Options :
1. # 6.5

2.« 1.7

3_33'?

Question Number : 53 Question Id : 7773933763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the ages of two brothers is 22.5 years, and the difference in their ages is 9 years. What is the age of the
elder brother (in years)?

Options :
1.« 27

) #® 24

3 #® 26



4. % 25

Question Number : 53 Question Id : 7773933763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l WISl &1 1Y &1 AT 22.5 T8 & AR 3TD! A HT AR 9 qY g1 T HIS &1 AT (@91 H) FM 82

Options :
1.« 27

) #® 24

Question Number : 54 Question Id : 7773933764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunil bought a computer table marked at Z5.200 from the manufacturer. He paid 4,576 for the computer table, as he
was allowed some discount. Find the discount percentage that he availed.

Options :
1. % 10.8%

5 & 12%



Question Number : 54 Question Id : 7773933764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g-itet A FAidr 9 U Suger Sad BRI e Sifdhd Hed 25.200 4T 39 SR ¢qd & AT 24,576 BT YA
forar, Falfes 39 o Te ua At I Wi Be WiaRId J1d Bifo |

Options :

| % 10.8%

5 o 12%

Question Number : 55 Question Id : 7773933765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PQRS is a square in which PQ = (k + 8) cm and QR = 3k cm, then find the area of the square (in cm?).
Options :
1. % 100
o % 121

3 @ 144

4 % 169



Question Number : 55 Question Id : 7773933765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QﬁPQRS Waﬁiﬁ'ﬁmﬁf’(}ﬂk—lﬁ}cm ﬁ?QR=3kcm%.?ﬁﬁW$W(cmz ﬁf}wml

Options :
1. ® 100

) % 121
3 v 144

4 % 169

Question Number : 56 Question Id : 7773933766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rhombus with one diagonal of 18 em has an area equal to that of a triangle with sides 15 cm, 15 cm and 18 cm. What
is the length of the other diagonal (in cm)?

Options :
1. % 9

) # 10
3.¢ 12

4 % 14

Question Number : 56 Question Id : 7773933766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

18 cm%@%ﬁﬁﬁ@ﬂﬂﬂ@ﬂﬁﬁéﬁw 15 cm. 15 cm 3R 18 cmﬁﬂﬁ?ﬁﬁ’lﬁﬁ'ﬂﬁ%fﬁﬂﬁa?w
%I mWﬁﬁEﬂ_g{cmﬁ] EFEHSE{‘?

Options :
1 ® 9

> % 10
3 o 12
4 % 14

Question Number : 57 Question Id : 7773933767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each edge of a cube is increased by 2%, then what is the percentage increase in its surface area?
Options :

1 ® 2.02%
) # 4.4%
3 #® 4%
4« 4.04%

Question Number : 57 Question Id : 7773933767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfe fordl O o U [T i 206 ST f401 ST, 1 I9h UNIY &ha H fohd Uia=id 31 gfg grie

Options :
1. ® 2.02%

7 # 4.4%
3 % 4%
4.« 4.04%

Question Number : 58 Question Id : 7773933768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data in the table below shows the hour-wise distance covered by Amit on a day on his bike from 9 am to 2 pm. In which
2-hour duration did Amit cover the maximum distance?

Time Sam-10am [10am-1lam |[l1am-12noon | 12noon-1pm | 1pm-2pm
Distance 40 32 42 0 38
{in km)

Options :

1 % 9am-—11am
7 « 10 am— 12 noon

3 % Il am—1 pm

4 % 12 noon—-2 pm



Question Number : 58 Question Id : 7773933768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafeRad aféient o fau U sfies A GRT MU S15@ WR U 61 1 g8 9 5ol 4 QYR 2 §6l db a9 &1 1T
YC-gR G1I DI SRIId g | 38T A 2 €9 B [dbg oafd # offdbad gl 0 i

g | gEg9 W10 [gEe 109 11 [GEe 11 WS 12 |algR 1291 [dUER1 92

&l 40 32 42 0 38
(km )

Options :

| x G9EOH 1

, » 998 10 U 12

, % 998 11 HQIUR |

4 % GUR 1292

Question Number : 59 Question Id : 7773933769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following bar graph shows the number of caps (in dozen) of different colours manufactured and sold by a dealer in
a day. What percentage of the caps have been sold (correct to one decimal place)?
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Options :
1. % 64.5%

) % 65.2%

3 & 65.7%

4 % 66%

Question Number : 59 Question Id : 7773933769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g fear T 25 2w Us G § U SIoR gRT 991U 2R 99 7Y fafis {1 & &9 (o4 H) &1 GBI & gxfar g
U P a1 UTIId 991 741 § (SR & U RIF a6 Us JF)?

N
N
RN
N

-3 N
7N
@ 6N
5 - \\\
% & \
2 WY
AN
Options :
1 ® 64.5%
7 #® 65.2%
3 & 05.7%
4. % 606%

Question Number : 60 Question Id : 7773933770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie-chart shows the subject-wise enrolment in a university in a vear. Total enrolment in the university is
7560. If the ratio of number of male students and number of female students in Commerce is 3 : 5, and the ratio of
number of male students and number of female students in Computer Science is 3 : 2, then the number of female
students in Commerce is what percentage less than the number of male students in Computer Science (correct to 2
decimal places)?

Science
E\du

Computer
Science

Humanities

3 % 26.8%

4 & 27.08%

Question Number : 60 Question Id : 7773933770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| ® 22%

) # 23.5%
3. % 26.8%
4.« 27.08%

General English
Group Number : 4
Group Id : 77739376
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 777393161

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 777393191

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7773933771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’
This is a best book I have ever read.

Options :

1. ¥ the best
2. * agood
3. % the better

4. #* No improvement

Question Number : 61 Question Id : 7773933771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’
This is a best book I have ever read.

Options :

1. ¥ the best
2. % agood
3. # the better

4. % No improvement

Question Number : 62 Question Id : 7773933772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

Kapil will be denied that he had ever borrowed any money from me.
Options :

1. # was denied

2. ¥ denied

3. % had deny

4. ¥ No improvement

Question Number : 62 Question Id : 7773933772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

Kapil will be denied that he had ever borrowed any money from me.
Options :

1. # was denied

2. ¥ denied

3. # had deny

4. ¥ No improvement



Question Number : 63 Question Id : 7773933773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The old man felt very because he had no friends.
Options :

1. ¥ lonely

2. % remote

3. % distant

4. # private

Question Number : 63 Question Id : 7773933773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The old man felt very because he had no friends.
Options :

1. ¥ lonely

2. % remote

3. * distant

4. % private

Question Number : 64 Question Id : 7773933774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

No one can the fact that climate change is one of the biggest problems today.
Options :

1. #* refuse

2. % deny

3. % drop

4. % fail

Question Number : 64 Question Id : 7773933774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

No one can the fact that climate change is one of the biggest problems today.
Options :

1. # refuse

2. % deny

3. % drop

4. % fail

Question Number : 65 Question Id : 7773933775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word 'homage' from the following:
Options :

1. # Purity

2. % Innocence

3. # Censure

4.+ Tribute

Question Number : 65 Question Id : 7773933775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word 'homage' from the following:
Options :

1. % Purity

2. # Innocence

3. # Censure

4. ¥ Tribute

Question Number : 66 Question Id : 7773933776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct antonym of the word 'obsolete' from the following:



Options :

1. # ancient

2. # Immune

3. % Contemporary
4. ¥ Vague

Question Number : 66 Question Id : 7773933776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct antonym of the word 'obsolete' from the following:
Options :

1. % ancient

2. % Immune

3. ¥ Contemporary

4. ¥ Vague

Question Number : 67 Question Id : 7773933777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following sentence and identify the part that has an error.
By the time I reach home, / my pet dog, Jimmy, / has been sitting at the door / waiting for me.

Options :

1. ¥ By the time I reach home
2. % my pet dog, Jimmy

3. ¥ has been sitting at the door

4. ® waiting for me

Question Number : 67 Question Id : 7773933777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following sentence and identify the part that has an error.
By the time I reach home, / my pet dog, Jimmy, / has been sitting at the door / waiting for me.



Options :

1. % By the time I reach home
2. % my pet dog, Jimmy

3. % has been sitting at the door

4. # waiting for me

Question Number : 68 Question Id : 7773933778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the option that contains an error.

They have be playing in the playground since 4 o’ clock.
Options :

1. ¥ be

2. % in

3. * since

4. % 4 o clock

Question Number : 68 Question Id : 7773933778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the option that contains an error.

They have be playing in the playground since 4 o’ clock.

Options :

1. ¥ be

2. % in

3. ¥ since

4. % 4 o clock

Question Number : 69 Question Id : 7773933779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the correct word from the options given below.
Due to the complexity of the case, the jury took a long time to come to a

Options :

1. # concensus
2. % consenssus
3. #® concencus

4. % consensus

Question Number : 69 Question Id : 7773933779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word from the options given below.
Due to the complexity of the case, the jury took a long time to come to a

Options :

1. # concensus
2. % consenssus
3. # concencus

4. ¥ consensus

Question Number : 70 Question Id : 7773933780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct word from the options given below and fill in the blank.
The lady who fainted had been standing in the for two hours.

Options :
1. ¥ queue
2. # que
3. % cue

4. # geue

Question Number : 70 Question Id : 7773933780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the correct word from the options given below and fill in the blank.
The lady who fainted had been standing in the for two hours.

Options :
1. ¥ queue
2. % que
3. % cue

4. % geue

Question Number : 71 Question Id : 7773933781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the underlined group of words in the given sentence.

He was always interested in the study of the human race. So when he chose as his profession, no one was surprised.

Options :

1. % Ornithology
2. # Zoology

3. ¥ Anthropology
4. # Biology

Question Number : 71 Question Id : 7773933781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the underlined group of words in the given sentence.

He was always interested in the study of the human race. So when he chose as his profession, no one was surprised.

Options :

1. #* Ornithology
2. % Zoology

3. % Anthropology
4. % Biology



Question Number : 72 Question Id : 7773933782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom or phrase.
Ask for the moon

Options :

1. ¥ Want something that is impossible to get or achieve
2. % Do something that happens rarely, not frequently'
3. # Be very happy about something

4. ® Go back a very long time ago

Question Number : 72 Question Id : 7773933782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom or phrase.
Ask for the moon

Options :

1. ¥ Want something that is impossible to get or achieve
2. # Do something that happens rarely, not frequently'
3. # Be very happy about something

4. ® Go back a very long time ago

Question Number : 73 Question Id : 7773933783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the idiom or phrase given.
A red-letter day

Options :

1. ¥ A very happy, exciting and important day
2. % A day full of bad happenings

3. # A day of immoral activities

4. ® A very sad and unpleasant day



Question Number : 73 Question Id : 7773933783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the idiom or phrase given.
A red-letter day

Options :

1. ¥ A very happy, exciting and important day
2. % A day full of bad happenings

3. # A day of immoral activities

4. % A very sad and unpleasant day

Question Number : 74 Question Id : 7773933784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. and in their developmental process, they lose the confidence in chasing their dreams
Q. rather it needs great effort and hard work to reach to its peak

R. but students fail to understand this strategy

S. success does not depend upon the short-cut method

Options :

1. % SPRQ
2. ¥ SQRP
3. % PQRS
4. % QPRS

Question Number : 74 Question Id : 7773933784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. and in their developmental process, they lose the confidence in chasing their dreams
Q. rather it needs great effort and hard work to reach to its peak



R. but students fail to understand this strategy
S. success does not depend upon the short-cut method

Options :

1. # SPRQ
2. ¥ SQRP
3. ¥ PQRS
4. % QPRS

Question Number : 75 Question Id : 7773933785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. however, majority of fatal accidents happen

Q. if reasonable precautions are not taken

R. it requires proper training from the coach and knowledge of equipments,
S. mountaineering is a popular outdoor adventurous sport

Options :

1. # RQSP
2. % PSQR
3. ¥ SRPQ
4. ¥ QRSP

Question Number : 75 Question Id : 7773933785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. however, majority of fatal accidents happen

Q. if reasonable precautions are not taken

R. it requires proper training from the coach and knowledge of equipments,
S. mountaineering is a popular outdoor adventurous sport

Options :

1. % RQSP



2. % PSQR

3. % SRPQ

4. % QRSP

Sub-Section Number : 2
Sub-Section Id : 777393192
Question Shuffling Allowed : Yes

Question Id : 7773933786 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions given after it.

Ranvir Shorey who recently hit out at “independent film crusaders” who have turned into “mainstream Bollywood flunkies,” has shared details of
the ordeal he went through in Bollywood.

Fans asked him to take inspiration from Kangana Ranaut and publicly name the saboteurs of careers of many members of the industry. Ranvir
responded that he would not like to do so as he has no solid proof of their wrongdoing but added that he has been a victim himself.

“I don’t take any names because I have no evidence to prove their complicity! But the reason I speak is, I went through the same professional &
social isolation, bad mouthing & lies in the press, and psychological trauma from 2003 to 2005 with the same people who are now involved,” he
wrote on Twitter.

According to Ranvir, things got so bad that he was forced to leave India at one point. He said that the only reason he was not completely broken
was because he had the support of his friends and family. “The despair I went through at the time was enough to break me, but I survived thanks
to my family and a few friends. I even had to leave the country because of how toxic the environment got for me. Coincidence? No. Modus
operandi? Yes,” he wrote, adding that he was around 33 years old at the time.

Kangana has claimed that Bollywood operates like a ‘mafia’. In a recent interview, she alleged that Aditya Chopra and Karan Johar attempted to
sabotage Sushant Singh Rajput’s career and declare him as a ‘flop star’, even though he delivered huge hits such as MS Dhoni: The Untold Story
and Chhichhore.

Meanwhile, Ranvir was recently involved in a war of words with director Anurag Kashyap, who took his tweets on ‘independent film crusaders’
as a slight. The entire argument was conducted via Twitter.

Sub questions

Question Number : 76 Question Id : 7773933787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The most important message contained in the passage is about
Options :

1. ¥ Sabotage of film-related careers

2. # Money making in illegal ways

3. # Power games between movie moguls

4. % The budgets of Bollywood films

Question Number : 77 Question Id : 7773933788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to ‘prove their complicity’
Options :

1. # explain their actions to Ranvir Shorey

2. ¥ to do someone harm or wrong

3. # to agree with Ranvir Shorey’s charge

4. % to do someone a favour

Question Number : 78 Question Id : 7773933789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To what does the actor, Ranvir Shorey, attribute his ‘despair’?

Options :

1. # The fact that he had to live in Mumbai without any future or professional success.
2. # The isolation from his close friends and family who threw him out of his home.

3. # That he could not name the conspirators behind the attack on his life.

4. ¥ The mental and professional harassment and isolation meted out to him by powerful Bollywood bigwigs

Question Number : 79 Question Id : 7773933790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option is the closest in meaning to the Latin phrase ‘Modus operandi’?
Options :



1. # A secret maneuver by one’s enemies at work
2. ¥ A method of operation that indicates a pattern
3. # An example set to encourage or promote others

4. # A book that lays out the rules of engagement in an industry

Question Number : 80 Question Id : 7773933791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are Ranvir Shorey and Kangana Ranaut referring to, when they make the charge of damage and drastic tragedies in Bollywood?
Options :

1. ¥ The attempt to sabotage the career of Sushant Singh Rajput

2. # The suicide attempt of Ranvir Shorey

3. % The discrimination of Kangana Ranaut by Bollywood bigwigs

4. # The opening of a case against Bollywood moguls by the police

Question Id : 7773933786 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions given after it.

Ranvir Shorey who recently hit out at “independent film crusaders” who have turned into “mainstream Bollywood flunkies,” has shared details of
the ordeal he went through in Bollywood.

Fans asked him to take inspiration from Kangana Ranaut and publicly name the saboteurs of careers of many members of the industry. Ranvir
responded that he would not like to do so as he has no solid proof of their wrongdoing but added that he has been a victim himself.

“I don’t take any names because I have no evidence to prove their complicity! But the reason I speak is, I went through the same professional &
social isolation, bad mouthing & lies in the press, and psychological trauma from 2003 to 2005 with the same people who are now involved,” he
wrote on Twitter.

According to Ranvir, things got so bad that he was forced to leave India at one point. He said that the only reason he was not completely broken
was because he had the support of his friends and family. “The despair I went through at the time was enough to break me, but I survived thanks
to my family and a few friends. I even had to leave the country because of how toxic the environment got for me. Coincidence? No. Modus
operandi? Yes,” he wrote, adding that he was around 33 years old at the time.

Kangana has claimed that Bollywood operates like a ‘mafia’. In a recent interview, she alleged that Aditya Chopra and Karan Johar attempted to



sabotage Sushant Singh Rajput’s career and declare him as a ‘flop star’, even though he delivered huge hits such as MS Dhoni: The Untold Story
and Chhichhore.

Meanwhile, Ranvir was recently involved in a war of words with director Anurag Kashyap, who took his tweets on ‘independent film crusaders’
as a slight. The entire argument was conducted via Twitter.

Sub questions

Question Number : 76 Question Id : 7773933787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most important message contained in the passage is about
Options :

1. ¥ Sabotage of film-related careers

2. # Money making in illegal ways

3. # Power games between movie moguls

4. ® The budgets of Bollywood films

Question Number : 77 Question Id : 7773933788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to ‘prove their complicity’
Options :

1. # explain their actions to Ranvir Shorey

2. ¥ to do someone harm or wrong

3. % to agree with Ranvir Shorey’s charge

4. % to do someone a favour

Question Number : 78 Question Id : 7773933789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To what does the actor, Ranvir Shorey, attribute his ‘despair’?

Options :

1. ® The fact that he had to live in Mumbai without any future or professional success.

2. % The isolation from his close friends and family who threw him out of his home.



3. # That he could not name the conspirators behind the attack on his life.

4. ¥ The mental and professional harassment and isolation meted out to him by powerful Bollywood bigwigs

Question Number : 79 Question Id : 7773933790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is the closest in meaning to the Latin phrase ‘Modus operandi’?
Options :

1. #® A secret maneuver by one’s enemies at work

2. % A method of operation that indicates a pattern

3. % An example set to encourage or promote others

4. % A book that lays out the rules of engagement in an industry

Question Number : 80 Question Id : 7773933791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are Ranvir Shorey and Kangana Ranaut referring to, when they make the charge of damage and drastic tragedies in Bollywood?

Options :

1. ¥ The attempt to sabotage the career of Sushant Singh Rajput

2. ® The suicide attempt of Ranvir Shorey

3. # The discrimination of Kangana Ranaut by Bollywood bigwigs
4. ® The opening of a case against Bollywood moguls by the police
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Question Number : 81 Question Id : 7773933792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Toga-aed gl § ¥ I 91 gaferd T8l 6-
Options :

1. % Hlgal-2g™

2. % Y- Y19

3. % U39y

4.« Q-1

Question Number : 81 Question Id : 7773933792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 Toad-aed gl § ¥ I A1 gAferd 781 6-

Options :



1. % Glaar-TaH
2. % IIY- yI9
3. % Ur3-ufy

4. gIR-grE

Question Number : 82 Question Id : 7773933793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'SR 5 4T &7 TTeg; 57

Options :

1. ¥ BRE!

2. % 3g

3. % gl

4. % fgd

Question Number : 82 Question Id : 7773933793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'"SRT 5 T 7 TGt &2

Options :

1. ¢ BRE!

2. % 3

3. % gl

4. % fgdt

Question Number : 83 Question Id : 7773933794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 <Tec  F I 91 eg GRS 7
Options :

1. ¢ Qe




2. % 3TeH
3. # Hlgl
4, % IR

Question Number : 83 Question Id : 7773933794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 2reqf H @ oI T Weg, I 82
Options :

1. ¢ el

2. % 3T

3. % Hlal

4. % 3R

Question Number : 84 Question Id : 7773933795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GEXMT 312 B Udhe = aTell WG DI A G ?

Options :

Question Number : 84 Question Id : 7773933795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ZeXT 31 Y Yebe B 9T Usg HIT A 2
Options :

1. % g
2. % 3gf




3. ¥ 3R
4. % gqfd

Question Number : 85 Question Id : 7773933796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T Treal # @ TR 5y Wea &1 o 7 2
Options :

1. ¥ od

2. ¥ 9d

3. % ®c

4, % gMEAT

Question Number : 85 Question Id : 7773933796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw T Treal W A TR o Wreg T 3 7 0
Options :

1. ® $d

2.9 pd

3. % @c

4. % gMEAT

Question Number : 86 Question Id : 7773933797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI Y g T BT 34 §eT R 4T g 2
Options :

1. % gd-qd

2. % {d-gd

3. % gd-gd



4. FA

Question Number : 86 Question Id : 7773933797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI Y g T BT 34 FeT 3R 4T g 2
Options :

1. % gd -qd

2. % {d-gd

3. % {gd-gd

4.« Jd-Jd

Question Number : 87 Question Id : 7773933798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hde/aTadh Yeg DI A6 2

Options :

1. ¥ U

2. * {4

3. % qd

4. % Gadl

Question Number : 87 Question Id : 7773933798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e YT Ueq DI A G ?

Options :

1. ¢ U

2. % {9

3. % ¢d

4. % Sqdl




Question Number : 88 Question Id : 7773933799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt forRad Imeht O 1% v e SN o) 9 & 3 {9 foig &1 7T ax 39 e gU 3% &1 Ufad ¥ SuR fora faar i g2
Options :

1. ® 3fcUfarTA g

2. % JUfRM g

3. ¥ g4Ug g

4. % giofe fIg

Question Number : 88 Question Id : 7773933799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreht farfad areh o 12 3f1 ge o dl g & 3 Ty g &1 anT R 39 §e U v ! Ufad ¥ SR forg fear sirar g2
Options :

1. % 3cqfeR g

2. % JuferH fog

3. ¥ §9UC g

4. % ol fag

Question Number : 89 Question Id : 7773933800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR fRaM ... | ABIfa DI IR HA & foTE Faifs Suged fased g -
Options :

1. % Ticp T

2. % Tich TG

3. % i B

4.« T UTd



Question Number : 89 Question Id : 7773933800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gFER faRaA & BId......... | Aipifad o1 GRT HRA & o8 Jaife Iuged fadweu g -
Options :

1. % Tp TTId

2. % i A

3. % b B

4. dib UId

Question Number : 90 Question Id : 7773933801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed 3 3 oF 1 favd fug el yw &1 781 § 2

Options :
1. #;

2.¢ |
3. %

4. %,

Question Number : 90 Question Id : 7773933801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofed & 9 3 91 fav g Sidieh TS $1 7181 © 2

Options :
1. ®=;

2. |
3. %
4. %

5

Question Number : 91 Question Id : 7773933802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o 7 fore fasrea o farmifgt &1 w8t v gan g 2
Options :

1. ¥ Go TATERATd 8% (VT U W™ afad 3
2. % g fare, Sha- ot 4RIE &,

3. % T, IRT IS HH DI g |

4. % g1 T8, HATA G ?

Question Number : 91 Question Id : 7773933802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o @ o faden o farmifag) &1 9d) v gan g 2
Options :

1. ¢ To JATERATd 8% (FUFHAT) Th HeH Afad 3|
2. % gY fauTe, Sia- &1 YR &

3. % T T DIS HH B g !

4. % BRI UG, TR G 2

Question Number : 92 Question Id : 7773933803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R R 1 Ifrd wRgl A gof pi—

v

3if 30T fadrd =0 9T fhar|
Options :

1. # gRT

2. % Pl

3. %9

4.4

Question Number : 92 Question Id : 7773933803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Yo RIM &1 Ifad IR I guf

A4

3T 3T f[amTd =0 YRUT fha|
Options :

1. ® gRT

2. % P

3. %9

4.4

Question Number : 93 Question Id : 7773933804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R &1 Ifad IR 9 gof s
o5l TIRT b a8 9 AR D1 SAferd gl siiq The B G|

Options :

1. % 9 @l

2. % I, P o
3. % 9 gRI

4. ¢ B W

Question Number : 93 Question Id : 7773933804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R &1 3ferd TR ¥ ol dx—

3 TIRT b a8 39 TR0 1 3ferad gt siiq The B G|
Options :

1. % 9, &l

2. % P, o g

3. % 9 R

4. ¢ DR



Question Number : 94 Question Id : 7773933805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl D1 I g o UoT &1 ure w1 A | HH- gfa g2
Options :

1. % s

2. % FEaId

3. ¢ 3R

4. % Hopard

Question Number : 94 Question Id : 7773933805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSN 1 3o § o ot T UTer e | a1 | DI g /2
Options :

1. % Mg

2. % FETETd

3. ¢ 3T

4. % Gard

Question Number : 95 Question Id : 7773933806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Tt § 9 Hgad ot e B |

Options :

1. % a1l 3R HTH L= B

2. % T IY UG B odl W61, W I T Ta! EHl
3. v T 3 & R T Riifes a8 TR Tl

4. % G Td § SR 89 3 JHIIOG R Iohd & |

Question Number : 95 Question Id : 7773933806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau T aret o  yad areg T8 B

Options :

1. % a1 Al 3R B L& B

2. % T 3 gU G- B! Hgdl 6T, W 39 T ol Gl
3. ¢ T I oW H foar wife a8 mRumas ol

4. % T M g 3R g1 3 YA R Tohd gl

Sub-Section Number : 2
Sub-Section Id : 777393194
Question Shuffling Allowed : Yes

Question Id : 7773933807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR I UG Gaferd U BT IR gliod |

PR G P 6 Y 14 Il D1 3G b =l bl (R Hard R aH Hi | 39 969 1 g1 B o fod dfae™ o d=me
SITQT | I8 WA =e HoR 81 5F & a1 Sfau™ § e Hiferd ifierl § Ariien! o forg fRren &1 siftier off znfiya gt smem|

T BT Sfemefd o 31T YU Heid HEHSd & dod | g Hurd fosan man| ffee 3 wyuf ardtor JAsiR aremn &t off wedt ¢ <t g
IS & ol <0 B9R RIS ST &1 WiaeT fhar T g1 39 3ifaad HiHed 3 sidiet # Sideard! g9d 4 Ia fRUIfd R foar &
& 1Y B T AASd R SHAT 490 RIS SUY B! IR D1 Tdha I R, &l Adol-1d STUHHI I 6 B qdT S R fafda
ST & &1 & WISUY & 1Y G & URerd bl Hi werdl &l _

IEg B 1A A IS ©1 dod & a1 AATGaIdIsl di 98 TSR] ¢d U 9a1T b 6 I 14 98 & Sadl o [ad 9361 AfqeT =ies
fadae T4 & Afdbrei= I3 T U fbar ST | 9 UMY o J1eH 9 Gl & ffwdg 21 T U 91 SUY 21-% SiSl ST foad 6 9
14 9T & =] Bl - 3R AR FRIe Iuasd S H1 UTae™ g

Sub questions

Question Number : 96 Question Id : 7773933808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifard fRren & Ty ® Fafafad 7 @ S9-91 $uT 93 82

Options :



1. ¢ 3ffard fRren (.o ghftl

2. % 3ffrard g Agees gt

3. % JffHard e ude oy ol & fad gt

4. % ffAard Ren ¥ &g dfgem & dene= gl g

Question Number : 97 Question Id : 7773933809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T=Ne HoR B1 S & ST ANTRD| ! ol arH g

Options :

1. % T BRI B SHBR! T SR |

2. ¢ T BRI H AR o forg e o1 SifieR off =it gt smem|
3. % Tifas fBR R 8 SId|

4. % Gfay 4 I=ne gl S|

Question Number : 98 Question Id : 7773933810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYTTHT B Sregefd & T Had HEHed & dow 1 o fFurg =81 forar mam
Options :

1. % Fquf Jrior ISATR ISt B HoR)

2. ¥ JWIDl H 3fddbdlel g0 I Iad (UG IR foar

3. % I ATdoI- IUHHI B! 4G B DI HoR

4. % SFRATRY & &F T YUY & 1Y A & UdTd PI HoRdl

Question Number : 99 Question Id : 7773933811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 3[e S1fHard g & fore Uy fovan ST ara a8 & 1491 Afqu S=ie= fadge gem
Options :

1. % 9191 Wiqer A=Med fadae

2. % 92d] Ay TN A




3.« 9391 TfAy I=meA [Adas
4. ® 949] Ty My AYTw

Question Number : 100 Question Id : 7773933812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YN & ATHH T IRYF H S 1 791 IUSY ST SITu?
Options :

1. * 20-$b

2.9 2]1-dh

3. % 20-9

4. % 21-9

Question Id : 7773933807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR Bl Ugahx Tafeid U ol ITR gIfod |

PR G P 6 14 T B 3G D =i Bl (- (AT R TaH ST | 37 A&d B GIRIA B o [0l Hfae™ & A=me
SITET | 9% WA T=NeH HoR 81 9 & a1e Afqur H Ut A iRl ArRe! & o Rien &1 sifier of =nfire gt smem|
TYTTHAT BT Sregerd & 3ol HUd hatd ARHed & 9@ 1 gg Hurd fovar T | Hiwed 3 Sl arior JAsHTR aierr & o erdt ¢ < 39
I & T o8 B9IR RIS ST BT WGy fha1 7T g1 39 3ifaRad HiFHSd 7 il # 3dehard! s9d I Ia7 R R iR &
& T B T NA3d R THAT 490 FRIS SUY B! IR 1 Ahe aGL B, &l AIdol-1d STHH! 1 6 B adT A 3R fafdsa
faxT & & H FISUY b WY FHEId o URaTd b1 Hi wedl &t .

T B T A HRHSA & 93% & SIc JaIealdai & I8 SHGRI ¢d g€ aar fb 6 ¥ 14 9 & a=i & forg 9397 Wfaem d=iem
a8 e & fidbrei- T 1 U1 fbar SiurT | 39 =Y o A1y § Sfau™ & 3fwsg 21 8 U =01 Uy 21-8 SIS S forrd 6
14 1A & S DI (:Yeb 3R Sfard e Iuasy 3 &1 wrae™= gl

Sub questions

Question Number : 96 Question Id : 7773933808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifard e & Tey & FafalRad 7 @ S9-91 oy 93 82



Options :

1. ¢ SfAard e (. gt

2. % A e Ixew gl

3. % 3ffrard fRien e g vl & faw gt

4. % fard e ¥ Tefda Iy & Sned T8 grm|

Question Number : 97 Question Id : 7773933809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A=Ne R 81 S & ST ANTRD] b ol dTH gRTT?

Options :

1. % Mo ABR] BT AHGRY U BRT

2. ¢ Hiftte SRIBRI H AFTRe! & fod e &1 iR +f =nfie g1 e |
3. % Mo SHIGR R g1 S|

4. % Hfay™ § I=ne= g S|

Question Number : 98 Question Id : 7773933810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYTTHET 1 Sregefd & T Sad HEHed & o H a1 Hug =81 foram mam
Options :

1. % Ul JTHI0T ISATR AT B o]

2. ¢ JWIDHT H 3fddhdel g0 I e [RUYfd IR foar

3. % QI ATdoI-d SUDHHI DI §G B DI HoR!

4. % SFRATRY & &F H AN & 1Y A & UaTd Pl Hopd)

Question Number : 99 Question Id : 7773933811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. 3[e Sifard fRren & forg U=y fopan A arel g S-91 Wiaue S=ne fadass g
Options :

1. % 9191 GfayT Iy f39aH




2. % 9odf Gfay I=meq R_gus
3.+ 9391 Gfay™ Jne= R_Adus
4. % 9431 GfaYyT Ty fI9TH

Question Number : 100 Question Id : 7773933812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T GMNeA & ATH J IRYF H S 91 791 IuSY SHIST SITu?

Options :

1. % 20-h

2.9 2]1-h

3. % 20-9

4, % 21-9
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Question Number : 101 Question Id : 7773933813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pure semiconductor material is known as semiconductor.
Options :

1. ¢ intrinsic

2. % extrinsic

3. % P-type

4. % N-type

Question Number : 101 Question Id : 7773933813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS fefaras uard & 3faa® & Eq H AT A |

Options :

1. ¢ 3fideb
2. % SRR
3. % P-JUbR
4, % N-YhRR

Question Number : 102 Question Id : 7773933814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following represents the circuit symbol (or graphic symbol) of a normal PN junction diode?
Options :

: \\‘

Anode Cathode

!

¥ ¢

Question Number : 102 Question Id : 7773933814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § o 91 uRuy Te I\ PN SIaRH SIS & URTY UfoReT (A1 3R UfaReT) &1 gRIfar 82

Options :




Anode N | Cathode
|

N
e L
—Dr-

Question Number : 103 Question Id : 7773933815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. fepaRY Ac faggd &1 De faggd & ufvafda war 8 | 39 uferan # fa-t gerar ura gt 82
Options :

1. % 55%

2. ¥ 41%

3. % 81%

4. % 61%

Question Number : 103 Question Id : 7773933815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Half-wave rectifier converts AC power to DC power. In this process, it achieves the efficiency of:
Options :

1. % 55%

2.9 41%

3. % 81%

4. % 61%

Question Number : 104 Question Id : 7773933816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following operations is used to calculate the ripple factor in rectifier circuits?
Options :

. %= Iac TIpc

, % Iac— Ipc

3. v lac / Ipc

Iac* Inc
4. %

Question Number : 104 Question Id : 7773933816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fayeRt ufvy o et quies &t o & fa fafated # 9 fera alames (Sifovem) &1 g fear Sirar g2



Options :
. %= Iac TIpc

, % Iac— Ipc

3.« lac / Inc

Incx Ipe
4, %

Question Number : 105 Question Id : 7773933817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FALSE with respect to Bipolar Junction Transistors (BJTs)?
Options :

1. # BIJTs are normally operated with CB junction reverse biased and BE junction forward biased.
2. % A BIT has two pn junctions.

3. % A BJT has two layers of semiconductor material.

4. ® Base, emitter and collectors are the three terminals of BJT.

Question Number : 105 Question Id : 7773933817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg8a STaRm ¢ifoeR (BITs) & day & Fafaiad & 9 &1 91 &= TTad 82

Options :

1. # BJT 9 ¥U I CB SIaRM Ui RIe a1 3R BE SIa-M Ui fRIe a1y & A1y gienferd gid gl
2. % BITH Sl pn SRA B B




3. ¢ BIT ¥ 3f¢farae gard &1 &l URd giat o |
4. % 3R (@), ISP (THR) 3R U (Faiae) BIT & diF a5

Question Number : 106 Question Id : 7773933818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In P-channel JFETSs,

Options :

1. ¥ the majority charge carriers are holes

2. % the majority charge carriers are electrons

3. % the majority charge carriers are both electrons and holes

4. ® no majority charge carriers are present

Question Number : 106 Question Id : 7773933818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P- I JFET H, |

Options :

1. ¥ SO I IES % BIa &

2. % YEITD 3HIY JTeDh 3o 8 &

3. % JEUVID A ATeH SaIdel IR &% a1 8 &
4. % Plg IgUDH AV AEP GG Tl 8id &

Question Number : 107 Question Id : 7773933819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To operate an n-channel DE-MOSFET (Depletion Enhancement MOSFET) in enhancement mode,
Options :

1. ® the gate terminal must be made negative with respect to the source

2. ¥ the gate terminal must be made positive with respect to the source

3. # the gate terminal must be connected to the drain



4. % the source terminal only should be connected to Vpp

Question Number : 107 Question Id : 7773933819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeigHc HIS H n-d9d DE-HIqWe ((SRF gegHe Althe) I gR=nfed e s forg,

Options :

1. % Id & gruef e efHTd &1 BUMTHS 9101 ST AT
2. ¢ FId & U e fHTd &l YIS ST ST 1T

3. % T efHad ATel ¥ SISl ST A1 u

4. % I 9T B Fad Vpp I SITST ST 1T

Question Number : 108 Question Id : 7773933820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between Enhancement MOSFET and Depletion MOSFET is that:

Options :

1. ¥ in Enhancement MOSFET, the channel does not exist initially and is induced by applying voltage, and in depletion MOSFET, the channel is
permanently fabricated (by doping) at the time of construction of MOSFET itself

2. % in enhancement MOSFET, the channel is much enhanced than in depletion MOSFET

3. # the Enhancement MOSFET should always be used in forward biased and the Depletion MOSFET should always be used in reverse biased
4. % the Depletion MOSFET is highly doped than enhancement MOSFET

Question Number : 108 Question Id : 7773933820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ge-gdc Arghe 3R fSeH Higthe & o9 &1 iR g & fh |

Options :

1. ¢ Sg-gHic ANghe H, I d = J AN gl 8idT & 3R dieed! T IR URd gidT 8, 3R SR Aiathe H, Aigthe & fHfu & 9m7g
81 od &) Rl T U (ST gRT) ST ST |

2. % Zg-gHc ANIhe §, od [SWIRM Aigthe &I ga-1 H 9gd $1fid Jer T §




3%gé;ﬁ?ﬁﬁ%@ﬁ%ﬁmamﬁﬁwamﬂﬁgﬁmaﬁmnwma@méﬁﬁmﬁwwﬁﬁhﬁﬁgmmqmﬁﬁ$amaﬁ§@maﬁmT
ST
4. % Tg-gHc AIthe 1 ga-T H SR Aithe rfiie Sifud far Srar g

Question Number : 109 Question Id : 7773933821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equations is an INCORRECT equation to calculate power (P), where ‘I’ represents current, ‘R’ represents resistance and
‘V’ represents voltage?

Options :
1. % P=VI

,» ® P=I’R

3 ¢ P=V2R

4 % P=VR

Question Number : 109 Question Id : 7773933821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁﬁ?ﬂﬁ@@ﬁﬂﬂﬂhﬂmﬂmﬁan$hmm$ﬁhﬂmﬁﬂmhﬂmﬁﬁﬁrrwnaﬁm%wvﬂﬁﬁzﬁ?%ﬁhwwﬁam
cerfdr 82

Options :

1. % P=VI



,» ® P=I’R

3 ¢ P=V2R

4 % P=VR

Question Number : 110 Question Id : 7773933822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Network theorems in electrical circuits are mostly used:

Options :

1. ® to analyse the nonlinear characteristics of circuit elements

2. ¥ to determine voltage and/or currents in circuits where Ohm's law cannot easily be applied
3. % to calculate the reactive power

4. ® to calculate only the power dissipation of circuit

Question Number : 110 Question Id : 7773933822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faegd aRual & Yead vHal &1 iftear T [CRURSIGI]

Options :

1. % ORUY 3TTd B RRISH YA BT A=A HA 8

2. ¢ gt 3 H1 faH S ¥ AR 6! fohaT off FahdT &, 981 Uy H dieedl SiR/AT 4RI &I J1d &3 8q
3. % Yfard! ArHe &1 10 B 8

4. % DHad URUY BT AT & DI TUHT HH 84

Question Number : 111 Question Id : 7773933823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the circuit resistance is 100QQ and the circuit current is 0.5A, then the applied voltage is:
Options :

1. ¥ 50V

2. % 5V

3. % 0.5V

4. % 500V

Question Number : 111 Question Id : 7773933823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe oRuy ufaRrY 1000 B 3R TRUY 4RT0.5A B, A SFIUYE dieed a2
Options :

1. ¥ 50V

2. % 5V

3. % 0.5V

4. % 500V

Question Number : 112 Question Id : 7773933824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dual of Norton’s theorem is:
Options :

1. # Millman’s theorem

2. # reciprocity theorem

3. % superposition theorem

4. % Thevenin’s theorem

Question Number : 112 Question Id : 7773933824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T & TR FT gd T 82
Options :

1. % i B1UY

2. % URINGA IHY

3. % YR GHY

4. ¢ QAT HTUHT

Question Number : 113 Question Id : 7773933825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the source resistance for maximum power transfer if the DC voltage has a source resistance variable from 10€Q to 50Q and it is connected
to a load of 15Q7?

Options :
1. # 15Q
2.9 10Q
3.%5Q
4, % 20Q

Question Number : 113 Question Id : 7773933825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey fagyd 3farur & forg Hia ufeRty faram 81T € afe De dieedr # Tid UfaRlY TR 10Q ¥ 50Q T § 3R T8 15Q F HR I T 82
Options :

1. % 15Q

2.910Q

3.%5Q

4. % 20Q

Question Number : 114 Question Id : 7773933826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 3-phase generators, separate windings are placed in stator slots at an angle of apart.




Options :

1. ¥ four, 90°
2. % six, 60°

3. % two, 180°
4. ¥ three, 120°

Question Number : 114 Question Id : 7773933826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35S A 1, Y& Hedl Bl Wex wie d & HIV R IW A ]
Options :

1. # TR, 90°

2. % 98, 60°

3. % I, 180°

4.« dH, 120°

Question Number : 115 Question Id : 7773933827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true with respect to Reciprocity Theorem?

Options :

1. # Reciprocity theorem is applicable only to single source network.

2. # Reciprocity theorem is applicable to the circuit containing R, L and C components.

3. ¥ Reciprocity theorem is applicable to the circuit having both dependent and independent source.

4. % Reciprocity theorem is applicable to linear and time invariant network.

Question Number : 115 Question Id : 7773933827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TR & Gy & Fufeiad & J 19 91 Sy Il T8l 82

Options :



1. ® URYWNGAI TG $hdd Uhd AId Hedd R AN Bl |

2. % URWREGA THI R, L 3R C U] ara URIY R AR BT 8 |

3. ¢ URWRGI U0 ST R W= a1 didi arel GRYY IR A gidT 8|
4. % TRENGA YT WP 3R AT 3URad-19 Jead WR AR gidT 2|

Question Number : 116 Question Id : 7773933828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fleming’s left-hand rule in DC motors is used:
Options :

1. # to find the current in DC motor

2. ¥ to find the direction of rotation of DC motor
3. # to find the direction of current in DC motor

4. % to find the number of rotations of DC motor

Question Number : 116 Question Id : 7773933828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DC HicH & HifHT & 9T 81 & g &1 IuaiT ERISISIN
Options :

1. % DC HIeX § YR 1d HA 8

2.+ DC AIex & YU &1 = I1d F3 8

3. % DC ISR H YR D1 A= 1d A 8

4. % DC Hiex & Yol 1 T 1 A |

Question Number : 117 Question Id : 7773933829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A transducer is a device that:
Options :

1. ¥ converts a physical quantity into the proportional electrical signal



2. # converts alternating current to direct current
3. % allows flow of current in only one direction

4. ® is used to detect the presence of electric current in the circuit

Question Number : 117 Question Id : 7773933829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UREHTHA (SRASYER) 98 SUBRUI g Sl !
Options :

1. ¢ Wi R &1 rgurfaes faegd Gaa # ufafdd aar g

2. % TG YRT D! fEF oRTH uRafid & &

3. % $ad U o & YRT P UaTe B Al e 8

4. % ROy ¥ faqgd URT &1 JufRfA &1 ual @ 8 YA fobar ST @

Question Number : 118 Question Id : 7773933830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The resistance of a metal conductor is given by:
Options :

1. ¥ R=(p+L)A

2. % R=pxLxA

3. % R=(pxL)+A

4. ¥ R=(pxL)A

Question Number : 118 Question Id : 7773933830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopaft oTq e &1 UfeRTY foh cioieh gIRT e favdT STl /2

Options :
1.®#¥ R=(p+L)A
2. % R=pxLxA




3. % R=(pxL)tA
4. ¥ R=(pxL)A

Question Number : 119 Question Id : 7773933831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The resistive element in the potentiometer is in the form of a helix; it is called
Options :

1. ¥ helipot

2. # helicopter

3. % helipad

4. # hexapod

Question Number : 119 Question Id : 7773933831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fayauTd & ufeRiue siaua Fsferd amdr @fea) & Tud garg; 39 EZIEINIET
Options :

1. ¥ gdlgre

2. % eAlBITR

3. % gdlus

4. % gHIUIS

Question Number : 120 Question Id : 7773933832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An LVDT that works with a load of 0.5M€Q and £0.0023V maximum deviation from linearity gives an output voltage of 2.3V. Its linearity at its
given load is:

Options :
1. ¥ 0.1%
2. % 0.01%
3. % 0.264%



4. % 1.103%

Question Number : 120 Question Id : 7773933832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feft LVvDT S 0.5MQ & HR & T1Y HTH HdT & MR @D F £0.0023V Hf¥Had fFaed 2.3v &1 A dieear Tar g | RT U YR wR
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Options :
1.4 0.1%
2. % 0.01%
3. % 0.264%
4. % 1.103%
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Question Number : 121 Question Id : 7773933833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Thermoelectric transducers are transducers.
Options :

1. * passive

2. * sensitive

3. % active

4. * insensitive

Question Number : 121 Question Id : 7773933833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dT9-3ggd URSH 0 (YHSAae® Ciaedey)  ciIegaR gl

Options :

1. % [Afspy

2. % HdgANd
3. ¢ Gihg

4. % SR

Question Number : 122 Question Id : 7773933834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o o ATa® O3 &1 Tifde ararerer § gRanfad fearsrarg v gfear . Ffear gt g

Options :



1. % gafed Rifds
2. ¢ IR Tidd
3. % Jhd

4. % gRfH

Question Number : 122 Question Id : 7773933834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The errors that get introduced when a measuring instrument is operated in a dynamic environment are _ errors.
Options :

1. # systematic static

2. ¥ systematic dynamic

3. % gross

4. % random

Question Number : 123 Question Id : 7773933835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FALSE with respect to sensors?

Options :

1. # Sensor is an element that produces signal relating to the quantity being measured.

2. ¥ Sensor is a circuit that converts high voltage signal to low voltage signal.

3. % Sensor is a device that provides a usable output in response to a specified measurand.

4. ® Sensor transforms an input of displacement into a change in inductance.

Question Number : 123 Question Id : 7773933835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Haed (AW) & Hay H Fofaied o 9 19 91 Sy 7Ted 52
Options :

1. % Tdadp (ATR) THT 3(9gd § Sl AT 1 38! I T Yeferd Gobd Iad HaT 3|




2. ¢ Tded (W) TRUY § T 3= dieed] Udbd B! HH dleedl Tobd H gRafdd drdl g
3. % Hded (W) VI IS g ol Ay A0 & Siare & vanT o= arg frfd uem e 8|
4. % IR IR F FRfdee &) IRba & uRada & TuiaRd s aar g

Question Number : 124 Question Id : 7773933836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the maximum and minimum values of the input of a sensor is called
Options :

1. # range

2. ¥ span

3. % error

4. # accuracy

Question Number : 124 Question Id : 7773933836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (FWR) & FAfase & 3ifrday iR ~gAad Al & s & SfdaR oI FHET Sl
Options :

1. % RN (39)

2. ¢ Tdmg ()

3. % e @)

4. % ORI (THN

Question Number : 125 Question Id : 7773933837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hysteresis error value is normally specified as a positive or negative percentage of:
Options :

1. ® the specified output range

2. % both input and output range



3. % error output

4. ¥ the specified input range

Question Number : 125 Question Id : 7773933837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y g1 HF Y JYRUI: fFTd YTHD T1 HUNHS Ui & =0 | Y fmar smar g2
Options :

1. % Ay frfa wmmg

Question Number : 126 Question Id : 7773933838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a beam of charged particle passes through a magnetic field, forces act on the particle and the beam is deflected from its straight line path.
This is called:

Options :

1. ¥ Hall effect

2. % magnetic effect

3. % semiconductor effect

4. % effect of displacement

Question Number : 126 Question Id : 7773933838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BId UHTG

2. % PG YU




3. % 3fefgTdd YT
4. % fqRIYT YHIG

Question Number : 127 Question Id : 7773933839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wheatstone bridge is used in strain gauges mainly to
Options :

1. # know the quality factor of the material

2. # control the current flow

3. ¥ detect very small changes in resistance

4. % detect very small changes in Inductance

Question Number : 127 Question Id : 7773933839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR A BT YN §-& ¥ 4 & foru fagfa Ardt & fasan srar 31
Options :

1. % Ter & TOTdT 0T P A

2. % YR Y8 Dl (AGET B

3. ¢ UieRIY o 9gd Y&d aRad! &1 gar i

4. % IRDHd H 9gd Y& IRad-! o1 udl i

Question Number : 128 Question Id : 7773933840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of the Boltzmann constant is:
Options :

L% 238x 1003 yx



» v 138 x 1063 K

3. % 146 x 10629y

4 % 2.46 x 10023 yK

Question Number : 128 Question Id : 7773933840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SiecoriH fRRI% $T A fdhd-T 8idT /2
Options :

| % 238 x 10023 yx

5 v 138 x 10623

3 % 1.46 x 1009 K

4 % 246 x 1003 yK

Question Number : 129 Question Id : 7773933841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The binary addition of 1+1 results in:
Options :

1. ¥ sum =0, carry = 1

2. % sum =1, carry =0

3. #® sum =0, carry =0

4. % sum =1, carry = 1

Question Number : 129 Question Id : 7773933841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1+1 & T 3nert arT &1 gRoms BT g g2
Options :

1. ¢ =0, B =1 (sum = 0, carry = 1)

2. % gHT= I,MZO(sumZ 1, carry = 0)

3. % TNT =0, B = 0 (sum = 0, carry = 0)

4. % TRT=1, B =1 (sum = 1, carry = 1)

Question Number : 130 Question Id : 7773933842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NAND and NOR gates are called as universal gates because:

Options :

1. # those gates are universally accepted

2. ¥ all other basic gates can be implemented by using these gates

3. # these are the only two gates to be used to design all logic circuits

4. ® these gates consume low power

Question Number : 130 Question Id : 7773933842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % YTy UaH® €U 9 WHR BT od §
2. ¢ 3 1} IR T 1 37 ey BT ITANT HR A1 6T ST Tohdl §
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4. % YTy HY faggd W Hd §

Question Number : 131 Question Id : 7773933843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BCD number can be converted into Excess 3 code by:
Options :

1. #® subtracting decimal number 3 from it

2. ¥ adding decimal number 3 to it

3. # taking the 1s complement of the least significant bit

4. ® taking complement and adding one to it

Question Number : 131 Question Id : 7773933843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BCDW@W@(EXCGSS3code)ﬁﬁqﬁaﬁﬁmmmé?
Options :

1. % 39U Y GRHAd J=AT 3 9T IR

2. v ST SRIMAT BT 3 TS R

3. % gAY G g (f4) BT 1s Wb AR

4. % RSP ABI 3R ITH | IS IR

Question Number : 132 Question Id : 7773933844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimal SOP expression for f(a,b,c) = >'m(1,3,5,7) is:
Options :

1.¥C



2. % ¢
3. % ac

4. % a’c

Question Number : 132 Question Id : 7773933844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fla,b,c) = ¥'m(1,3,5,7) & I gATH SOP SIS &I 1 g2
Options :

1.¥ C

2. % ¢

3. % ac

4. % 2’°¢c

Question Number : 133 Question Id : 7773933845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 2" :1 multiplexer, “n’ represents the number of:
Options :

1. #* inputs

2. # outputs

3. * power lines

4. % select lines

Question Number : 133 Question Id : 7773933845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2" | H 9gdhad (Aeea) |, 'n' e T & gifd 82
Options :

1. % fafase

2. % frfd




3. % faqgd arsA

4.+ TOT ARA

Question Number : 134 Question Id : 7773933846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sequential circuits can be used to avoid race around condition?
Options :

1. # SR flip flop

2. % JK flip flop

3. % Master slave JK flip flop

4. % T latch

Question Number : 134 Question Id : 7773933846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad & Q@ @ a1 3wt uRuy &1 Iuai ufaesf saw ¥ se- & fore far o gewar g2
Options :

1. % SR ORI TReATY

2. % JK o1y weATg

3. ¢ HRC W14 JK fiRefU iy

4. % TTd

Question Number : 135 Question Id : 7773933847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is true?
Options :

1. % T flip flop is called transparent flip flop.
2. % D flip flop is called transparent flip flop.
3. % JK flip flop is called transparent flip flop.



4. % No flip flop is said to be transparent.

Question Number : 135 Question Id : 7773933847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 136 Question Id : 7773933848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In DAC, the accuracy is given by:

Options :

1. ¥ comparison of actual output voltage with expected output

2. ® time required for conversion of analogue signal into its digital equivalent
3. # ratio of change in output voltage resulting from a change of one LSB

4. ® different analogue output values that can be provided by DAC

Question Number : 136 Question Id : 7773933848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3Uferd Frfd & Qry arafas fAd dieed &1 gam

2. % TN RUd & 39 ffored T | uRafdd & o sawas a9qa
3. % | LSB & URad- & URUMHGEY Hid dieed! H URad &1 rurd

4. % faftF TAT@rT fid I S DAC §RTUGH U ST dahd §




Question Number : 137 Question Id : 7773933849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The resolution of 8-bit DAC is:

Options :

1. ¥ 256

2. % 8

3. % 64

4, % 32

Question Number : 137 Question Id : 7773933849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8-fie DAC ®1 faveq (RaTeg=H) fara giar 82
Options :

1. ¥ 256

2. % 8

3. % 64

4, % 32

Question Number : 138 Question Id : 7773933850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bridge circuit is said to be balanced when:
Options :

1. ¥ no current flows through the null detector
2. % high current flows through the null detector
3. * input voltage is equal to output voltage

4. % output voltage is greater than input voltage

Question Number : 138 Question Id : 7773933850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 7773933851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a Cathode Ray Tube Display (CRT Display), the intensity of electron beam is controlled by the:
Options :

1. ® applied current to the grid

2. ¥ applied voltage to the grid

3. % frequency of the grid

4. ® either current or voltage of the grid

Question Number : 139 Question Id : 7773933851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® I8 &1 YRT YaTed Peh

2. ¢ IS &l deedl G

3. % g &l egft

4. % 08 &1 1 dl YRT AT dleed

Question Number : 140 Question Id : 7773933852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Maxwell’s bridge circuit is essentially used to measure the:
Options :

1. ¥ inductance

2. % capacitance

3. # frequency

4. % resistance

Question Number : 140 Question Id : 7773933852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % TR

3. % 3Mqf

4. % giaRiy
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Question Number : 141 Question Id : 7773933853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The property of a material by which it emits light when an electron beam strikes it , is called:
Options :

1. ® reflection

2. ® refraction

3. * dispersion

4. ¥ fluorescence

Question Number : 141 Question Id : 7773933853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % 3Uqc
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Question Number : 142 Question Id : 7773933854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Galvanometer in Wheatstone bridge is used:
Options :

1. ¥ as a null detector

2. ¥ as an ammeter

3. % as a variable resistor

4. % to amplify the current in the circuit

Question Number : 142 Question Id : 7773933854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 143 Question Id : 7773933855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of Digital Voltmeter (DVM)?
Options :

1. % Ramp type DVM

2. % Integrating DVM

3. % Differentiating DVM

4. # Successive approximation DVM

Question Number : 143 Question Id : 7773933855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafifad 7 ¥ o fefsed dieedier (DVM) BT UHR 781 82
Options :

1. % YU TRUDVM

2. % JHIHIAd DVM

3. ¢ 3{ddicld DVM

4. % JTRIR Gf=1hed DVM

Question Number : 144 Question Id : 7773933856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analog multimeters involve movements, whereas digital multimeters are constructed using electronic circuits that do not contain
any moving parts.

Options :

1. # optical

2. # multilevel

3. ¥ clectromechanical

4. % residual

Question Number : 144 Question Id : 7773933856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN Hed e | T (i) 2 g 8, Safe e Aediier 1 iU saeacie afdbe &1 Sudiv e faar
T ® o 1< gfdw uré 7e ear 2
Options :

1. % UHIRID (PP A)
2. ¥ FEERN (HeIddd)
3. ¢ faqyd giff® (Edae A -ea)

4. % ARy RRTG3ra)




Question Number : 145 Question Id : 7773933857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is a DISADVANTAGE of Digital Storage Oscilloscope (DSO)?
Options :

1. # DSOs are used to detect even peak signals.

2. # DSOs can be used as logic state analyser.

3. % DSOs also allow automation.

4. ¥ DSOs are costlier than conventional oscilloscopes.

Question Number : 145 Question Id : 7773933857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ & 1w f$fed Heru Sa-eif (Dso) Ft saror g2
Options :

1. % DSO BT IUTNT RRR Tapd (e Rwrer) &1 +ft uar e g fovan sran g
2. % DSO HT ITANT d R faafds & U H fHar o 9o |

3. % DSO i TaETeH Pt A A

4. ¥ DSO URUR® GIaaRI &I o H 7 § |

Question Number : 146 Question Id : 7773933858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of the shunt resistance required for a 2mA meter with an internal resistance of 100Q to be converted to 0-152mA ammeter, is:
Options :

1. ¥ 1.333Q

2. % 1.486Q

3. % 1.653Q

4. % 1.002Q

Question Number : 146 Question Id : 7773933858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

100Q F 3R UfeRIY T 2mA HIeR BT 0-152mA THIeR H uRkafdd w1 & e smazae urfuy ufeRiy &1 A fbd=m giar 82
Options :

1. ¥ 1.333Q

2. % 1.486Q

3. % 1.653Q

4. % 1.0020

Question Number : 147 Question Id : 7773933859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subsystems is NOT present in an induction type single phase energy meter?
Options :

1. % A driving system

2. % A moving system

3. # A braking system

4. ¥ A ring system

Question Number : 147 Question Id : 7773933859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRUT UHR Thd Hal 3ol ATUT (FSIRM <80 R ol Toil Hier) T FHfaRad & I &4 91 I9a SUrRd ol g2
Options :

1. % =TT o (S8 ReH)

2. % T Yol (JfdT Ren)

3. % IRIYF dF (b Ried)

4. ¢ 99 77 (R Riew)

Question Number : 148 Question Id : 7773933860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A process required in the energy meter to determine and reduce the error when the energy is measured, is:



Options :

1. ¥ energy meter calibration
2. % energy meter testing

3. % energy meter compilation

4, % energy meter rotation

Question Number : 148 Question Id : 7773933860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il DY AU & SR FfE F1d HRA 3R HH B & e Soif Hiex T A1awaes Ufehar 31 gl 82
Options :

1. ¢ SolTATH 3i=TiehT (TSl Hiex Bicreem)

2. % ZulTHTU URT&UT (TT Hier ¢Rem)

3. % FulATYT YHad (TTof Hiek HUgaRH)

4. % SSHUT YU (TS HeR AcTH)

Question Number : 149 Question Id : 7773933861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Voltage to frequency converter type digital voltmeter is a of digital voltmeter.
Options :

1. # null balance type
2. ¥ integrating type

3. ® ramp type

4. ® potentiometric type

Question Number : 149 Question Id : 7773933861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dieedl ¥ 3R URad® UHR dlecHIUT (dleesl ¢ PlebdT d-acx ey fafored dieerier) fefored e @ gl

Options :




1. % S U IR (Td S T30

2. ¢ FHIH IO UBR (3fedfem)

3. # IYYPHR (RU TT30)

4. % fqYafHdT YR (UICRINHER Tgu)

Question Number : 150 Question Id : 7773933862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a sub-functional block of digital frequency meter?
Options :

1. * Amplifier

2. % Schmitt Trigger

3. % Start/Stop gate

4. ¥ Decoder

Question Number : 150 Question Id : 7773933862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofaRad o 9 o fefoea smafmndt (Sfiea wid Mex) &1 99-thamd sl 51 67
Options :

1. % THAIBRR

2. % fRge foTR

3. % WA IT

4. ¥ T&HIER

Question Number : 151 Question Id : 7773933863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While using op-amp as a square wave generator, the op-amp is forced to operate in which of the following regions?
Options :

1. ¥ Saturated region



2. % Linear region
3. % Cut-off region

4. # Either linear or cut-off region.

Question Number : 151 Question Id : 7773933863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WﬁWGﬁH%WﬁWW%(Op-amp)WWWW,WW%@p-am@ﬁmﬁﬁm a7y
aR=nferd Ba & forg AR fpam wrar 82

Options :

1. ¢ Iq &

2. % 3% &

3. % fdwyad (Pe-3iih) 8

4. % T ANGD a1 [TDeH (Fe-3iih) &

Question Number : 152 Question Id : 7773933864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Triangular wave generator can be formed by simply connecting:
Options :

1. # asquare wave generator to a square wave generator

2. % an integrator to a square wave generator

3. % asquare wave generator to a comparator

4. ® a comparator to a square wave generator

Question Number : 152 Question Id : 7773933864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el T 9 (FReR) Bl Had [HY SIgHR ST ST Jhdl 82
Options :

1. % o U T (SFRex) BT I T ST (SFeR) o




2. ¢ JHIGHAD (FEUTR) T I S (S Rex)
3. % G QT I (STHReR) B g (HURex) o
4. % JAMH (HURCER) B G aT Sl (SHeER) T

Question Number : 153 Question Id : 7773933865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following section A with Section B with respect to Phase Locked Loop(PLL).

Section A Section B

i)Phase detector ajGenerates ourput frequency directly proportional to its
input voltage

ilLow pass filter b}y Compares input frequency with feedback frequency

iii)Voltage controlled Oscillator c) Removes high frequency noise and produces a de level.

Options :

1.¥1-b,ii-c,iii-a
2. % ]-c,ii-a,iii-b
3. % [-a,ii-c,iii-b
4. % J-c,ii-b,iii-a

Question Number : 153 Question Id : 7773933865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hallsg U=/ dide U (PLL) & Yoy H FHIRId ST A BT 3UN B ¥ Al BT |




M A U B
. SwOTggI® a) U FHifdee aiccar & uwe smuia® 0 angfy ad seare
n. FEurs Hese b) Fifeee amafy &t g ufagfe s Fxare
.  dlecdl FasEd soE c) O=F 79 70 T 5X B X 0% DC T Idlgd Bed B

Options :

1.¥ I-b,ii-c,ili-a
2.% J-c,ii-a,iii-b
3.% J-a,ii-c,iii-b
4. % J-c,ii-b,ili-a

Question Number : 154 Question Id : 7773933866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An immersion line may be inscribed on the liquid-in-gas thermometer:

Options :

1. ¥ to indicate the depth to which it should be submerged into the measured environment
2. # to indicate minimum value of temperature

3. # to indicate the maximum level of temperature

4. ® to indicate the point for calibration

Question Number : 154 Question Id : 7773933866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR g o) (Rifs-37-09 yafdiey) ) oo Y Sifdd &) o Febdl 2
Options :

1. ¥ ST51 34 AU aTTaR0T § 09 H=1 91feT 39 TeRTs I SR B 5q

2. % AUHH BT FAdH JH SRId HH 8G

3. % dYEH o MYHTH TR B SHId B3 8g




4. % 32 & for fig $Md w3 8

Question Number : 155 Question Id : 7773933867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an advantage of thermometers with bimetallic temperature sensitive elements?
Options :

1. # Ease of reading

2. % Low cost

3. % Ruggedness

4.+ Calibration

Question Number : 155 Question Id : 7773933867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & I o w1 fgurg e Jae=ia 3/agd arel YATHeR &1 ar T8l 82
Options :

1. % UG H ST

2. % g arTd

3. % Oolq!

4. ¢ 3T

Question Number : 156 Question Id : 7773933868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pyrometers are essentially photo detectors designed specifically for the measurement of:
Options :

1. * humidity

2. % temperature

3. % flow

4. % voltage



Question Number : 156 Question Id : 7773933868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UrRIHTeR SfaR w0 § tiel feeaeR ¢ o faRiy ®u 9 HIY o o FEwiTsH foban a8 |
Options :

1. % 3l

2. ¢ dIYHMA

3. % Ydle

4. % gleed!

Question Number : 157 Question Id : 7773933869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If liquids are flowing with flow rate of ‘Q' in a tube with different cross-section areas, i.e., Al and A2, then the continuity equation is given as:
Options :

1.¥"Q=VIxAl=V2x A2

2.% Q=VI+Al=V2+A2

3. Q=VI1I-Al=V2-A2

4. % Q=VI1/A1=V2/A2

Question Number : 157 Question Id : 7773933869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe faftr SrguTd e &3, A, A1 3R A2 & 1Y U &gs § oRel Uerd 'Q 1 UdTg &’ & 1Y UaTed g1 61 8, dl Wida-gHievul fbyg
R e SITdT 87

Options :

1.¥Q=VIxAl =V2x A2

2.% Q=VI+Al=V2+A2

3.% Q=VI-Al=V2_A2

4.% Q=VI1/Al=V2/A2




Question Number : 158 Question Id : 7773933870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true with respect to Bernoulli equation?
Options :

1. #® Bernoulli equation is a conservation of Power Equation.

2. % Bernoulli equation gives relationship between pressure and temperature.
3. % Bernoulli equation does not take into account the flow losses.

4. % Bernoulli equation can be used between two positions in a flow system where there is only low flow.

Question Number : 158 Question Id : 7773933870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & Jey § Fafifed § @ S T ey qa 72

Options :

1. % FATH GHIBRUT OTd GHIHRUT BT T ¢ |

2. % g HIHRUN 19 3R AIHH & o Y&y Sar g |

3. ¢ STCl GHIGRUT YaTg BTl IR &1 781 &l & |

4. % FTch GHIHRUT BT IYTRT UdTg Uurell H o fRufaat & s fosar S ot § W8T dad Y Uarg gidr g |

Question Number : 159 Question Id : 7773933871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass of water vapour in a mixture in grains (where 7000 grains = 1 1b) divided by the mass of dry air or gas in the mixture in pounds is
called:

Options :

1. ¥ specific humidity
2. % relative humidity
3. # density

4. % flow

Question Number : 159 Question Id : 7773933871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U7 307 § STaT BT a8 SeTHM (ST81 7000 BT = 1 1b) UT3S H 301 7 Y g1 31 19 & g I fauiiord gia1 ], 1 waardr g2
Options :

1. ¢ fafR St
2. % e 3Mmean
3. % Y9d

4. % UATE

Question Number : 160 Question Id : 7773933872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Specific gravity (SG) of a liquid or solid is defined as:
Options :

1. ® the mass per unit volume.

2. ¥ the density of the material divided by the density of water or the specific weight of the material divided by the specific weight of water at a
specified temperature.

3. # the weight per unit volume of a material

4. ® the amount of water content per unit volume

Question Number : 160 Question Id : 7773933872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forel e a1 319 & fafIy @ (SG) B! frd =0 & Ry fasa ST &2
Options :
1. % SogHH Uld 3618 Saa-

2. Jgaﬁ% TIcd 1 ol & Ied & fauTford foram Sirdn & a1 uerd & fafy yR o RSy araem R oo & fafRiy g 3 fawnfera faean
ST

3. % B} yerd &1 R Ufd 3Ts 3adq
4. % U3 SBT3 I H ST
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Question Number : 161 Question Id : 7773933873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Induction hydrometers are used to:

Options :

1. ¥ convert the specific weight or density of a liquid into an electrical signal

2. * measure the temperature



3. ¥ measure the volume of the fluid

4. ® measure both specific weight and temperature

Question Number : 161 Question Id : 7773933873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRUT SATEATHT (S8R SRS IHIER) BT YT fPar ST 3|
Options :

1. ¥ R & AT YR a1 99 & faggd Ao | gRafdd e 8

2. % AUH HIUA 8

3. % RS DT TG I HIUH 5

4. % fARY YR R ITOHME GHI &I AU §q

Question Number : 162 Question Id : 7773933874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pneumatic comparators are the ones that provide magnification/amplification of the order of:
Options :

| % 10°°
2. v 107

3 & lj

4 % 100°



Question Number : 162 Question Id : 7773933874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G A d € o HH HI aE/Had UaH #3d g |
Options :

1% 107

» & 10°

4 % 100°

Question Number : 163 Question Id : 7773933875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Comparators are classified into four types, namely mechanical, optical, electrical and pneumatic, based on:
Options :

1. # the various inputs applied to it

2. ¥ the type of magnification employed in it

3. % the accuracy they provide

4. # the cost

Question Number : 163 Question Id : 7773933875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEIREIKD] YR R IR UHR, 37Td Tifes, USRI, faggd ok aradia & aiffed forar S g |



Options :

1. % g R ol Ffase
2. ¢ 3TH OIS 3mae &1 UhR

3. % J9P GRI Uad URRGdT

4. % NTd

Question Number : 164 Question Id : 7773933876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are true with respect to optical comparators?

a. Basic principle of measurement with optical flats is that of interferometry.

b. Working principle is based on the principle of balanced AC bridge.

c. Optical flat is used in optical technique of dimensional measurement using monochromatic light.
d. Operates in pneumatic system.

Options :

1. # Both statements a and b
2. ¥ Both statements a and ¢
3. # Both statements a and d
4. # Both statements b and d

Question Number : 164 Question Id : 7773933876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S ga & day T FafaRad o 9§ $F 1 3 90 87

a. UPTIRI FHAAITEHT o HTY A BT HA Rygia afaemufifa #1381
b. BT Rigid dgferd AC Ig & RIGid Gﬂ?ﬂﬁ?{%l

c. UBIIH THIAUTS BT T SUUNT THAUIT UHT BT SUTRT HXh [GHG AT B SHDHd a1 | [l Sl g |
d. aTdIg une § S HRar g |

Options :

1. % $2Ffa3ﬁTba:ﬁ
2. % YT a 3R ¢ I




3. % HYFa AR d I
4. % HYTb 3R d Sl

Question Number : 165 Question Id : 7773933877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Measurement of angular or rotational velocity CANNOT be done by:
Options :

1. # revolution counter

2. # capacitive tacho

3. % drag cup type tacho

4. ¥ transducer

Question Number : 165 Question Id : 7773933877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a1 guff 971 BT AU B8 gRT 61 o S Hehall 52
Options :

1. % RalegyA SRR (YuH-TT0M)

2. % HURifeq et

3. % ST HY Y bl

4. ¢ TOSIER (URSHIHA)

Question Number : 166 Question Id : 7773933878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A device that can be used to measure rpm (revolutions per minute) without making any contact with the rotating body is:
Options :

1. ¥ stroboscope

2. # accelerometer

3. # lever



4. # telescope

Question Number : 166 Question Id : 7773933878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 IR ForaesT IuanT gui i & I1y Pig Wudh fb o T rpm (Wfd fiTe ufvesmon o) Arae & for fosan S aad1 ], 1 dadrdl 82
Options :

1. ¢ 3MgRie (FKIeRD)

2. % RUMAT

3. % JTldD

4, % A

Question Number : 167 Question Id : 7773933879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of dynamometer used for shaft power measurement?
Options :

1. # Absorption type

2. % Driving type

3. # Transmission type

4. % Comparison type

Question Number : 167 Question Id : 7773933879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & I oF a1 feaumdt (SEAAHeR) BT ISR ol & fo9HT IUTRT YMYe i A & o fosar Sirdr g2
Options :

1. % JERNYU UHR (IR T3Y)

2. # Add YhRR (§I$I(a‘l cleY)

3. % URYU UHR (giHIrJ\-I-‘ZH cIgy)

4.« AT UhR (Gbai\wﬁ cIgY)




Question Number : 168 Question Id : 7773933880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The standard unit of torque and power are and , respectively.

Options :

1. # newton metre (Nm); joules
2. # horse power(hp); watt

3. ¥ newton metre (Nm); watt

4. % rotations per minute(rpm); joule

Question Number : 168 Question Id : 7773933880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3R AT Bt ATHD SHTS HH: 3R gl
Options :

1. % YA R (Nm); I

2. % 37y Xfa/gIN UleR (hp); dIc

3. v’:q@:ftﬂa(Nm);a'l?f

4. % {0 Ufd fAFE (rpm); S

Question Number : 169 Question Id : 7773933881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The physical process of separating, isolating, identifying and quantifying the components of complex mixtures is called:
Options :

1. ¥ chromatography

2. # gpectrography

3. % spectroscopy

4. # calligraphy

Question Number : 169 Question Id : 7773933881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

vy s (e fieRTeR) & Uee! &I fagioH 6R7, JU® -, UgarA 3R TRHTOIT &3 Bt Hifded Ufshar o1 saard! 82
Options :

1. ¢ UICRA (SHIHCRITHY)

2. % WaeH AR (TR

3. % Waeihe! (g )

4. % JAG (HATUTDY)

Question Number : 170 Question Id : 7773933882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a basic part of elution type chromatograph?
Options :

1. #® Sample injection system

2. % Thermal compartments

3. % Detector

4. ¥ Amplifier

Question Number : 170 Question Id : 7773933882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ ®F Fera UeR quid! (TeRM <3U HIHCI) H1 5 YT gl 62
Options :

1. % JHAT 3{d: &Y% 0 (AU ToaRH RieH)

2. % YT FHefl (YHA HHICHE)

3. % TEs (f$eaey)

4. ¢ Jate (TOTHRR)

Question Number : 171 Question Id : 7773933883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If supplied power is also called delivered power, then dissipated power is also called power.
Options :

1. # relational

2. ¥ absorbed

3. # positional

4, % connection

Question Number : 171 Question Id : 7773933883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Smyfefd amed o1 faafea g ot wer STar 8, o e e bl gt +ft BT ST 8|
Options :

1. % JdymRep (Reera)

2. ¢ ARV (Teolfes)

3. % fRyd

4. % GO

Question Number : 172 Question Id : 7773933884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following electronic devices with their terminals

1. (BII a) Anode, gate, cathode

II. MOSFET b) Collector, base. emitter

III. SCR ¢) Gate, source. drain

Options :
1. % I-b,ii-a,iii-c
2.9 1-b,ii-c,iii-a

3.% I-c,ii-b,iii-a



4. % I-c,ii-a,iii-b

Question Number : 172 Question Id : 7773933884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifad sdaci e SuB &1 3 i & gafd S|

i) BIT a) T13, 7, TS

i) MOSFET b) FoECL, 89, TETT

iii) SCR o) 7T, |, 29
Options :

1. ® i-b, ii-a, iii-c
2. % i-b, ii-c, iii-a
3. ® i-c, 1i-b, 1ii-a

4. ® i-c, ii-a, 11i-b

Question Number : 173 Question Id : 7773933885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The symbol shown in the given figure represents:

R

Options :

1. ¥ TRIAC
2. % DIAC

3. % BIT

4. % MOSFET

Question Number : 173 Question Id : 7773933885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& 11 3repfar  feraman ram udes wrm gifar 82

R

Options :

1. ¥ TRIAC
2. % DIAC

3. % BIJT

4. % MOSFET

Question Number : 174 Question Id : 7773933886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Basically, feedforward control is used:

Options :

1. ¥ to measure important disturbance variables and take corrective action before they upset the process
2. % to measure the large controller gains

3. % to measure the boiling temperature

4. ® to know how the controlled variable responds to changes

Question Number : 174 Question Id : 7773933886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T ¥, 371 THRUT 01 (BISBRAS dheld) BT SUTNT IEBIRSIGINS
Options :

1. ¢ AE@YUI fa&iy TR &I YA 3R UfohdT ol 39 [qudd a3 ¥ Ugd YURTHS HIRATs B 8
2. % O (AU 1Y &l A1 B




3. % I YA &I HIUA 5
4. % fAf3A TR uRad=! & Ui 4 Ufdfesar a1 § I8 94 8g

Question Number : 175 Question Id : 7773933887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the typical application of ratio control?
Options :

1. # Specifying the relative amounts of components in blending operations
2. ¥ Maintaining a stoichiometric ratio of reactants to a reactor

3. % Keeping a specified reflux ratio for a distillation column

4. ¥ Surge control of a controller

Question Number : 175 Question Id : 7773933887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifaa # § o srgura Hg=or o1 falkiy srua 76t 82

Options :

1. % Gty afered | gew! & araef A Ay S

2. % RUFR & HUBRD! DT IFIHBIUHCAR 3IUTd (K IghHfcDh IR FH1T G
3. % T A WY gq My u=xadrel Srurd &1

4. ¢ 03 &1 iepy A

Question Number : 176 Question Id : 7773933888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is/are true/false with respect to configurations for feed forward and feedback control?

1) Feedback trim is normally used in conjunction with feed forward control to compensate for modelling errors and unmeasured disturbances.
i1)An alternative configuration for feed forward-feedback control is to have the feedback controller output serve as the set point for the feed
forward controller.

Options :

1. ¥ Statements i) and ii) both are true.



2. # Statement i) is true and statement ii) is false.
3. % Statements i) and ii) both are false.

4. ® Statements i) is false and statement ii) is true.

Question Number : 176 Question Id : 7773933888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T THRUT SR Ufagfd fAd=0r & fore fammg & Sey # Fofafed 3 3§ &F 91/ $uF 981ATad 8/8?

i) Tfagf® fod H1 IuaNT QreRvra: ArsfeT Ffedt iR fomr ard 72 fqeiy &t WRuTs & oy of1 THRuT =01 & Saioq & fhar Sar g
ii) 31T THRUL-TfAY® e & fo defedes fa=mg ufagfd fAd=mr s R & fog Ie ufse & U § S a1 ] |

Options :

1. ¢ HYF i) 3R ii) A Tel ] |

2. % YT i) Tol g 3R HYA ii) T4 5 |

3. % YT i) 3R ii) G TAd B

4. % HYT i) TAd & 3R HYUF i) TEI B

Question Number : 177 Question Id : 7773933889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a cascade control system to function properly, the secondary control loop must:
Options :

1. # respond slower than the primary loop

2. ¥ respond faster than the primary loop

3. # respond simultaneously with the primary loop

4. ® not respond

Question Number : 177 Question Id : 7773933889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PLps A YNl & Sib T HTH B3 P forg, fgdiae iz urxr &1 Gl
Options :

1. # gryfies o1 & gaqn | et ufafesar




2. ¢ TS ORI 1 Jor § ot ufafesar S
3. % Urufires uTer & 91y ufafesar S
4. % DIs ufaferar T8) &

Question Number : 178 Question Id : 7773933890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a FALSE statement with respect to active transducers?

Options :

1. ® Active transducer generates electrical signal directly in response to the physical parameter.

2. ® Active transducer is a self-generating device that operates under energy conversion principle.
3. % Piezoelectric sensors are active transducers.

4. ¥ Active transducer operates under energy controlling principles.

Question Number : 178 Question Id : 7773933890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tford IR (CTISTER) & Tay # Fgfeiad § I &F 91 71ad HYU 82

Options :

1. % gfchg URehHE Hifdd URHex &1 ufaferar & T faggd dod Sad Hrar g |

2. % Tfhy URSHT U W-IAGH IUHIU g Sl SHoll = uidRul Rigid & dgd ulanferd sidr g
3. % g9 dggd Yded Jfchd TR U ¢ |

4. Tfehg UReHIEE ol 70 Rigidl & ded &1 HRal g

Question Number : 179 Question Id : 7773933891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the given pressure-sensitive devices is a twisted metallic tube with elliptical cross section sealed at one end and tends to straighten out
on application of pressure?

Options :
1. # Diaphragm



2. # Capsule
3. % Bourdon Tube
4. % Bellow

Question Number : 179 Question Id : 7773933891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%Qﬂgm-ﬂéﬁwﬁﬁﬁﬁq@%%mﬁgﬁaﬂﬁq%ﬂnmemmﬁﬁ%eﬁvaa%&mnwxﬂwﬁ
olldl g7

Options :

1. % SIIhTH

2. % HRA

3. ¥ IReM &Jd

4. % qal (114

Question Number : 180 Question Id : 7773933892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bellows are normally used for measurements and are to vibrations.
Options :

1. ¥ low pressure; sensitive

2. # high pressure; sensitive

3. % high pressure; unreactive

4. # low pressure; unreactive

Question Number : 180 Question Id : 7773933892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hreft (SIS FURUG: AT & forg IUTRT & Siet 8 3R U & forg HcIE
Options :

1. ¢ {9 qI9; Yag=iia
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Correct Marks : 1 Wrong Marks : 0.25

Which of the following comparators works on the principle of balanced AC bridge with four induction coils?
Options :

1. * Pneumatic comparator

2. % Electrical comparator

3. ¥ Mechanical comparator

4. % Optical comparator

Question Number : 181 Question Id : 7773933893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & @ & 91 gafs IR IRU SSel aTd Idferd AC Ig & Rigid IR &1 T 82
Options :

1. % qrIGr el

2. ¢ fagqgd gat=

3. % gifAd e

4. % YDIIRIPb A

Question Number : 182 Question Id : 7773933894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gross errors in instruments are generated due to:
Options :

1. # faults existing in instruments

2. ®% unknown reasons

3. % human factor involved in measurements

4. % lack of proper measuring instruments

Question Number : 182 Question Id : 7773933894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3 o g Ffeal HRUN O I4F Bl gl




Options :

1. % JUBON H Gy

2. % SJATd PRI

3. ¢ 40§ g $R$ AMAA

4. % I AT IUHRUN BT UG

Question Number : 183 Question Id : 7773933895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gate is to be used along with two half adders to design a full adder?
Options :

1. # AND gate

2. % OR gate

3. # Ex-OR gate

4. # Not gate

Question Number : 183 Question Id : 7773933895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quf 9ol (Fd TaR) I fEuirs e & o fRafafad & 9 foed e &1 SuanT &f onel aie! o A1y foear ST 82
Options :

1. % ANDTIC

2. ¥ ORTIE

3. % Ex-OR T[T

4. % NOT I

Question Number : 184 Question Id : 7773933896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which mode of shift register operation is represented by the given figure?



A B c D
s . L T |
Q,‘ ‘]ﬂ, CI.: DD

Options :

1. ¢ Parallel Input Parallel Output (PIPO)
2. % Serial Input Serial Output (SISO)

3. # Parallel Input Serial Output (PISO)
4. % Serial Input Parallel Output (SIPO)

Question Number : 184 Question Id : 7773933896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRve IR TR BT DI T dtepT feT 7T 3R gRT <=iiar 17 82

A B c i)
i = o ® LT |
Q. Qg Qg Qp

Options :

1. ¢ gHHIGR fFAfase gaHiaR 3 (p1po)
2. % it fAfdse wite AfF (s1s0)

3. % gUAIRR fAfase wiHe A (prso)
4. % Hffe fAfase FAFGR 94 (S1PO)

Question Number : 185 Question Id : 7773933897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The instruction MOV A, #99H is an example of addressing mode.



Options :

1. # register
2. # direct
3. # indirect

4. % immediate

Question Number : 185 Question Id : 7773933897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAdr MoV A, #99H TSR A1 &1 ISR B |

Options :

1. # register
2. ® direct
3. * indirect

4. ¥ immediate

Question Number : 186 Question Id : 7773933898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum hexadecimal value that a timer register can count in Timer Mode 0 is:
Options :

1. ¥ FFH

2. % FFFFH

3.4 |IFFF H

4. ¥ FEH

Question Number : 186 Question Id : 7773933898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT NSYMYRY A o eemR IR R A 0 A Jhdr g, I S IATR?
Options :

1. ¥ FFH




2. % FFFFH
3.¥ IFFFH
4. % FEH

Question Number : 187 Question Id : 7773933899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data pointer of 8051 microcontroller is a register subdivided into two  registers.
Options :

1. % 8-bit; 4-bit

2. ¥ 16-bit; 8-bit

3. # 16-bit; 6-bit

4. ® 32-bit; 16-bit

Question Number : 187 Question Id : 7773933899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 ATShIcIeR 1 Scl Ulger Ud Ao esial IRt A Iufquifora g1
Options :

1. #® 8-bit; 4-bit

2. ¥ 16-bit; 8-bit

3. #® 16-bit; 6-bit

4. # 32-bit; 16-bit

Question Number : 188 Question Id : 7773933900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The internal address of PORT 0 in 8051 microcontroller is:
Options :

1. ¥ 80H

2. % 90H

3. % AOH



4. % BOH

Question Number : 188 Question Id : 7773933900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 HIZHIDHCITR H PORT 0 BT 33d T d T 52
Options :

1. ¥ 80H

2. % 90H

3. % AOH

4. % BOH

Question Number : 189 Question Id : 7773933901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stack pointer of 8051 is initialised to the address after reset.
Options :

1. % 08H

2. % 07H

3. % 09H

4. % 06H

Question Number : 189 Question Id : 7773933901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 & W Trgcx Pl AT A & d1G Y W HRMaE far st g
Options :

1. % 08H

2. % 07TH

3. % 09H

4. % 06H



Question Number : 190 Question Id : 7773933902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In order to select BANK 3 of internal RAM of 8051, the RSO and RS1 bits of PSW register should be:
Options :

1. % 0,0

2.% 0,1

3. % 1,0

4. ¥ 1,1

Question Number : 190 Question Id : 7773933902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 B AT XH P S 3 BT 994 b HH H, PSW IoRER & RSO 3R RS1 faeq HREINRY
Options :

1. % 0,0

2.% 0,1

3.% 1,0

4.9 1,1

Question Number : 191 Question Id : 7773933903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 8051 microcontroller has I/O pins configured as  8-bit parallel ports.
Options :

1. % 32;8

2.% 324

3. % 284

4. % 24;3

Question Number : 191 Question Id : 7773933903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

8051 ATShIdbeleR o pofmgde e 8- gaMIdR UIé & ®U H SIRpTR fHar Srar gl
Options :
1. % 32;8
2.¥32: 4
3. % 28:4
4. % 24:3

Question Number : 192 Question Id : 7773933904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an 8-bit register of 8051 that stores the integer remainder after division operation done by DIV instruction.
Options :
1. ¥ Register B
2. % Register A
3. * DPL
4. = DPH

Question Number : 192 Question Id : 7773933904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8051 BT 8-fae IFoReR & S DIV ISR §RT 5T T fAuTS StRRH & d1E Uries Y &1 3fed dxal g |
Options :
1. ¢ AR B
2. % AT A
3. % DPL
4. % DPH

Question Number : 193 Question Id : 7773933905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Address Latch Enable(ALE) pin of 8051 is used to
Options :

1. #® demultiplex address and data lines of port 1

2. % enable external RAM/EPROM

3. ¥ demultiplex address and data lines of port 0

4. ® fetch the program from the addresses 0000h to OFFFh

Question Number : 193 Question Id : 7773933905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USY o TASd (ALE) 8051 &1 U & foQ S fear Smar 8|
Options :

1. % O1¢ | O SHR @I Ty 3R ST arg

2. % ST RAM/EPROM 1 G&H H=HAl

3. ¢ UIC 0 BT SH W Usd 3R ST argy

4. % T &I 0000h ¥ OFFFh U9 TR A

Question Number : 194 Question Id : 7773933906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the accumulator holds the value CSH(11000101B) and the carry is zero, the content of the accumulator after the execution of the instruction
RRC A is:

Options :
1. ¥ 8BH
2. % 8AH
3. % E2H
4. ¥ 62H

Question Number : 194 Question Id : 7773933906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe HEAe C5H(11000101B) T HA I 8 3R 984 LA 8, dl (4= RRC A & e & ST e &1 3(aud 1 82




Options :
1. % 8BH
2. % 8AH
3. % E2H
4. ¥ 62H

Question Number : 195 Question Id : 7773933907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1= o FafaRad srwa & AT & a1 ISR B &1 3/agd gl

CLR A

CPL A

MOV B, #99H
MUL AB

Options :
1. % 67H
2. % 98H
3. % 00H
4. % 86H

Question Number : 195 Question Id : 7773933907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The content of register B after the execution of the following sequence of instructions is

CLR A

CPL A

MOV B, #99H
MUL AB

Options :
1. % 67H
2. % 98H
3. % 00H



4. % 86H

Question Number : 196 Question Id : 7773933908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The assembler directive EQU in 8051 microcontroller is used to
Options :

1. ¥ define a constant without storing information in the memory
2. % define a constant by storing information in the memory

3. # redefine the symbols that are already declared

4. ® indicate the starting address

Question Number : 196 Question Id : 7773933908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 AIZHIHCITR H TR (R EQU &1 ST & foru fsar Sar |
Options :

1. ¢ AR H a1 Tufed fou fomm fRrie o afufid o

2. % HARY H G JUfed B RRID DI GRHTT B

3. % gd-aifd Uchiep] o1 fOhR & uRTid o=

4. % URIYD U9y SAId B

Question Number : 197 Question Id : 7773933909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following interrupt sources of 8051 microcontroller with its vector address.



1 External Interrupt0 | a. 000BH

|2

Timer 0 Interrupt b. 001BH

3 [External interrupt 1 c. 0013H

4 Timer | Interrupt d. 0003H

Options :

1.¥1-d,2-a,3-¢,4-b
2.% 1-a,2-¢,3-d,4-b
3.%#1-a,2-d,3-¢c,4-b
4. % 1-d,2-¢c,3-a,4-b

Question Number : 197 Question Id : 7773933909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 HISshIehcIeR o FEfeiRad $ex HIdl ol 38D daex TgH o 1Y FHITd B |

1. TFHCAT SCAP 0 a. DOOBH
2. TISHT 0 53¢ b. 001BH
3. UFHCAT 5eIF 1 ¢ 0013H
4. TIEH 1 537 d. 0003H

Options :

1.¥1-d,2-a,3-¢c,4-b
2.% 1-a,2-¢,3-d,4-b
3.% ]1-a,2-d,3-¢,4-Db
4. % 1-d,2-¢,3-a,4-b

Question Number : 198 Question Id : 7773933910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The only register of 8051 without internal on-chip RAM address is:
Options :

1. # stack pointer

2. ¥ program counter

3. % accumulator

4. # timer register

Question Number : 198 Question Id : 7773933910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$eRAd 3-FI9 YT U39 & {971 8051 T THAH foRer B
Options :

|. % Wb Ydb

2. ¢ UH BIER

3. % AOD

4, % TR IR

Question Number : 199 Question Id : 7773933911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following timer modes of 8051 is said to be the auto reload mode?
Options :

1. % Mode 0

2. % Mode 1

3. ¥ Mode 2

4. % Mode 3

Question Number : 199 Question Id : 7773933911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeiad 7 O o9 1 eTsHR 7S 8051 &1 3ifel Tl ArS Hel SIdl 82
Options :

1. % 780

2. % OIS |

3. ¢ AS2

4. % OIS 3

Question Number : 200 Question Id : 7773933912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which register of 8051 controls the baud rate in the asynchronous mode of transmission?
Options :

1. ¥ SCON

2. % SBUF

3. % Timer 0

4. % TMOD

Question Number : 200 Question Id : 7773933912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 BT I T IR IAMRE & TRITHY IS H §is Ye & (Hafa sarg?
Options :

1. ¥ SCON

2. % SBUF

3. % Timer 0

4. ¥ TMOD




